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Question Title N Mean SD Max Mark Attempt %
1(a) 2140 1.3 0.7 2 64.3 99.1
1(b) 2138 1.3 0.7 2 65.1 99
1(c) 2093 2.5 1.6 6 41.7 96.9
2(a) 2149 1.2 0.7 2 58.4 99.5
2(b) 2139 1.3 1.3 4 33.6 99.1
3(a) 1851 0.6 0.8 2 28.6 85.7
3(b) 1804 0.5 0.7 2 25.7 83.6
4(a) 2106 0.7 0.5 1 69.1 97.5
4(b) 2111 0.7 0.5 1 67.9 97.8
5(a) 2137 0.9 0.8 2 43.5 99
5(b) 2126 1.5 1.3 4 36.8 98.5
6(a) 2138 1.3 0.8 2 62.6 99
6(b) 2135 4.7 2.5 12 39.4 98.9

7(a)(i) 2133 1.4 0.7 2 67.7 98.8
7(a)(ii) 2137 1.3 0.9 3 44 99
7(b)(i) 2114 1.8 1.1 3 59.8 97.9
7(b)(ii) 2093 1 0.8 2 51.5 96.9
7(c) 2101 1.9 1.3 4 47.8 97.3
7(d) 2051 1.8 1.4 4 45.7 95
7(e) 2109 1.9 1.3 4 47.4 97.7
8(a) 2149 1 1.3 4 24.4 99.5
8(b) 2143 2.2 1 4 54.8 99.3
9(a) 2149 1 0.9 2 51.7 99.5
9(b) 2109 0.8 0.9 2 37.5 97.7
9(c) 2018 0.1 0.3 1 9.5 93.5
9(d)(i) 2133 1.7 0.7 2 85 98.8
9(d)(ii) 2119 1.7 0.7 2 85.2 98.2
10(a)(i) 2118 0.9 0.3 1 89.3 98.1
10(a)(ii) 2113 0.7 0.8 2 37.3 97.9
10(a)(iii) 2151 0.6 0.8 2 28.6 99.6
10(b) 2093 1.5 0.9 3 49.7 96.9
10(c) 1996 2.2 1.4 4 55.2 92.5
10(d)(i) 2050 0.1 0.2 1 5.9 95
10(d)(ii) 2064 0.4 0.6 2 21.2 95.6
10(e) 2137 2.6 1.2 4 64 99
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3. Describe the following ways of assessing validity in psychological research:
(a) concurrent validity. (2]
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Sticky Note

This received 1 mark for a basic answer – there is mention of comparing the findings which is similar to the exemplar answer on the mark scheme. Not enough development of the description for 2 marks. 
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(@) concurrent validity. (2]
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Sticky Note

This received the full 2 marks – this is a reasonable and accurate description (even though there is no mention of the validity of the ‘established study’) 
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3. Describe the following ways of assessing validity in psychological research: o

(@) concurrent validity. [2]
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3.

Describe the following ways of assessing validity in psychological research:

(b)

construct validity

[2]

Exemplar answers:

e Any other appropriate content

The most sophisticated test of validity as it looks at whether the overall
results reflect the phenomena as a whole (external validity). Checking the
existing definitions of the behaviour being studied and redesigning the test
if it measures a different construct. (2 marks)

Checking that the test is measuring the construct that it claims to be
measuring (1 mark)

No response attempted.

Marks AO1
2 Reasonable description.
1 Basic description.
0 Inappropriate answer given.











(b) construct validity. (2]
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Sticky Note

 Examiner mark: 0. Nothing creditable. 
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Sticky Note

Enough for full 2marks – the concept of checking the content and asking the experts for their opinion. 
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(b) construct validity. Mo St bore [2]
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Sticky Note

 No marks awarded – nothing creditable. 
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Examiner
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3. Describe the following ways of assessing validity in psychological research: o

(b)  construct validity. (2]











5. (a) Define the term ‘case studies’. [2]
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(@) Define the term ‘case studies'. (2]
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(@)

Define the term ‘case studies’.

[2]

Exemplar answer:

A method which involves an in-depth investigation of a phenomenon, which
uses a descriptive analysis of a person, group or event. It is a holistic study
through one or more methodologies that is usually longitudinal (2 marks)

An in-depth investigation of a person or event using several methods (1

mark)

e Any other appropriate content

Marks AO1
2 Reasonable definition.
1 Basic definition.
0 Inappropriate answer given.

No response attempted.











5. (a) Define the term ‘case studies’. [2]
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Sticky Note


1 mark awarded. Partial explanation – this might not apply to all case studies; no mention of multiple methods or longitudinal research. 
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(@) Define the term ‘case studies'. (2]
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Sticky Note


2 marks awarded. Reasonable explanation as per the mark scheme. 
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Sticky Note

No marks awarded – could be one of several methods. 
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5. (a) Define the term ‘case studies’. [2]

(b) Explain one strength and one weakness of using case studies in psychological
research. [2 + 2]
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(b) Explain one strength and one weakness of using case studies in psychological
research, [2+2]
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(b) Explain one strength and one weakness of using case studies in psychological
research, [2+2]
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(b) Explain one strength and one weakness of using case studies in
psychological research. [2+2]

Credit will be given for:

Strength

¢ Higher validity due to in-depth data and/or analysis.

e Less ethical issues due to the use of several methods.

Weaknesses

o Less reliable due to the varied methodology.

e Possible ethical issues of anonymity or confidentiality due to studying
an individual or small group.

e Any other appropriate content.

Marks AO3
> ¢ Reasonable explanation of one appropriate strength or
weakness.
1 e Basic explanation of one appropriate strength or weakness.

e Inappropriate answer given.
e No response attempted.











(b) Explain one strength and one weakness of using case studies in psychological
research. [2+2]
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Sticky Note

0 + 1 mark awarded. Descriptive response, but basic mark given for ‘time consuming’. 
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Sticky Note

0 + 1 – description of what a case studies is / what is does – no evaluation of the strengths. Basic marks given for how findings and conclusions cannot be obtained quickly (rather than ‘takes a long time’ – that is descriptive of a longitudinal study). 
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(b) Explain one strength and one weakness of using case studies in psychological
research, [2+2]
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Sticky Note

Examiner marks: 2 + 0 
Reasonable evaluation of strength but the point made about not being able to generalise is not a weakness of a case study (this is not the intention of a case study). Credit would have been given for a similar point if it had been linked to difficulty replicating the research (reliability), but not for generalisability. 
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(b) Explain one strength and one weakness of using case studies in psychological
research. [2 + 2]
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INVESTIGATION ONE: An experiment on helping behaviour
7. (@) (i) Statethe operationalised experimental hypothesis used in your investigation.  [2]
S T e SO0 TS conddalian,
‘-‘NQ.\S\&\C-‘:‘LI-'\.‘(\LS nosenses \aaive  oQ uc\\:-sx\qs-m&

(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
why you chose this for your experiment. [1+2]






(b) (i) Idenlify and explain one extraneous variable you considered in your experiment.
[1+2]

b T OSS wade ase. Mook Yoo
Semmen, oo sole LooS Nak orcasd
W Socas o exored | S Vol sicudends
Mmtmebmmcg

c.‘x O OSCS .

(i) Explain how you dealt with the extraneous variable identified in (b)(i). [2]
SSSSN Q—Q_\"\Cdb o ook Secodo s cemalidk

%\Q‘{f} ovas\ \N:_Xge

(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]
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voode oult Was Q\MQ:::&.Q = Qe &'13.\:.4:&.\%
D= X weass cs«:\.\\:bq\)mé_ SOES oo \TW_.
AR ONAFEN, (v oSS Q\—u.hz‘s\c.n.&,.






(d) Identify and fully justify the cholice of Inferential statistical test that you used to analyse
the data in your experiment. (4]

Cras o Mo - b&:\:&x\c.u_\. esk o
L3 e\ e o God Qe AlSsernce. \ohasean
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(e) Explain two improvements you could make to your experiment. (4]
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7. (a) (i) Statethe operationalised experimental hypothesis used in your investigation. 2]
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(ii) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
why you chose this for your experiment. [1+2]
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EXami
(b) (i) Identify and explain one extraneous variable you considered In your experiment, -

[1+2]
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(i) Explain how you dealt with the extraneous variable identified in (b)(i). (2]
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(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]
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(d) Identify and fully justify the choice of inferential statistical lest that you used to analyse
the data in your experiment. 14]
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(e) Explain two improvements you could make to your experiment. (4]
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INVESTIGATION ONE: An experiment on helping behaviour
7. (a) () Statethe operationalised experimental hypothesis used in your investigation. [2]i
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(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain |
why you chose this for your experiment, (1+2]]
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(b) (i) Identify and explain one extraneous variable you considered in your experiment,
(1+2]
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(i) Explain how you dealt with the extraneous variable identified in (b)(i). (2]
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(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]
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(d) Identify and fully justify the choice of Inferential statistical test that you used to analyse
the data in your experiment. (4]
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(e) Explain two improvements you could make to your experiment, [4]
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Section B - Personal Investigations

INVESTIGATION ONE: An experiment on helping behaviour.

7. @) 0] State the operationalised experimental hypothesis used in your
investigation. [2]

Exemplar answers:

e Girls are more likely to stop and help a student who is lost at
college and asking for help than boys will. (2 marks)

o There will be a significant difference between how much help is
offered to a teacher from boys and girls in the class. (2 marks)

e Boys will be less helpful in the classroom than girls. (1 mark)

e Any other appropriate content

Marks AO2

e Appropriate hypothesis with both independent
2 variable and dependent variable operationalised and
linked to this research.

e Basic hypothesis with either independent variable or
1 dependent variable operationalised and linked to this
research.

e Inappropriate answer given.
e No response attempted.

© WJEC CBAC Ltd. 11





(i) Identify whether the hypothesis in (a) (i) is directional or non-
directional and explain why you chose this for your experiment. [1+2]

Credit could be given for:

Correct identification of whether the hypothesis in (a)(i) is directional
or non-directional.

Marks AO2

1 e Accurate identification

e |nappropriate answer given.

0 e No response attempted.

Exemplar answers:

¢ | chose a non-directional hypothesis as the previous research
has suggested different results, with some studies suggesting
that due to evolutionary factors, girls are more inclined to help
others in a group whereas social psychological research has
shown that gender is not a contributing factor and it depends on
how you are brought up. (2 marks)

e | chose a directional hypothesis as the previous research
suggested that girls are more helpful than boys. (1 marks)

e Any other appropriate content

Marks AO2

> e Appropriate explanation of the justification for the
hypothesis for this research.

e Basic explanation of the justification for the
hypothesis for this research.

e Inappropriate answer given.
e No response attempted.

© WJEC CBAC Ltd. 12





(b) 0] Identify and explain one extraneous variable you considered in your
experiment. [1+2]

Credit could be given for:

Marks AO2

1 Identification of a plausible extraneous variable

Exemplar answers:

One extraneous variable was time of day [1] because if the student
was in a hurry to get to class, they may have been more worried
about getting into trouble than stopping to help; this affects the
validity of the findings. [2]

One extraneous variable was whether the student knew the
confederate lying on the floor [1] as they might be more likely to
help someone that they liked rather than someone they didn'’t like,
affecting the validity/reliability of the study. [2]

One extraneous variable was the presence of a teacher [1] as the
student may have though the teacher was going to help and they
did not need to. [1]

One extraneous variable was the furniture in the common room [1]
as they might not have seen the person on the floor. [1]

e Any other appropriate content

Marks AO2

> e Appropriate explanation of an extraneous variable
with links to this research.

1 e Basic explanation of an extraneous variable linked to
this research.

e Inappropriate answer given.
No response attempted.

© WJEC CBAC Ltd. 13






(i) Explain how you dealt with the extraneous variable identified in (b) (i)

(2]

Credit could be given for:

e Standardised procedures.
¢ Collecting data at the same time of day.
e Using a matched pairs design.

e Any other appropriate content.

Exemplar answers:

We controlled the extraneous variable by conducting the experiment
in the common room at the same time of day so that the students
were all on break or lunch and were not at risk of missing lessons.

[2 marks]

We kept the common room the same for all participants so that they
could all see the person needing help. [2 marks]

We asked the teachers not to come into the common room. [1 mark]

Marks AO2

e Appropriate explanation of how the extraneous

2 variable was controlled with links to this research.

e Basic explanation of how the extraneous variable was
controlled with links to this research.

e Inappropriate answer given.
No response attempted.

© WJEC CBAC Ltd. 14
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Identify the experimental design and explain why it was appropriate in your
experiment. [1+3]

Credit could be given for:

Identification of experimental design

Independent groups.
Repeated measures / repeated groups (not relevant for gender).
Matched pairs.

Any other appropriate content.

Marks AO2

1 e Accurate identification.

e Inappropriate answer given.

0 e No response attempted.

Exemplar answers:

| chose an independent groups design as my independent variable was
gender and | wanted to test the difference between the two groups of
boys and girls. It would be impossible to use a repeated measures
design as a boy could not then repeat the study as a girl in my
experiment. [3 marks]

| chose a matched pairs design as | wanted to test the difference
between two groups of boys and girls, but | wanted to control for as
many extraneous variables as | could. [2 marks]

| chose an independent groups design as | had two groups — one group
of boys and one group of girls and | couldn’t use repeated measures.
[1 mark]

Any other appropriate content

Marks AO2
3 e Thorough appropriate explanation of the choice of
experimental design clearly linked to the research.
e Basic appropriate explanation of the choice of experimental
design clearly linked to the research.
2 OR
e Thorough appropriate explanation of the choice of
experimental design not clearly linked to the research.
e Superficial appropriate explanation of the choice of
experimental design clearly linked to the research.
1 OR
e Basic appropriate explanation of the choice of experimental
design not clearly linked to the research.
0 e Inappropriate answer given.
¢ No response attempted.

15






(d) Identify and fully justify the choice of inferential statistical test that you used to
analyse the data in your experiment. [4]

There will potentially be differences that reflect the research choices made
by each candidate; credit the inferential statistical test choice if it is
potentially an appropriate way of analysing the data collected in their
experiment on helping behaviour.

Exemplar answers:

¢ | used a Mann Whitney test to analyse my data as | was testing for a
difference between two independent groups (participants were either
male or female) and the level of measurement was interval (number of
times they helped). [4 marks]

e Any other appropriate content.

N.B. Candidates who report selecting a Spearman’s Rho or any other
inferential test that would not be used for an experiment, cannot receive
credit.

Marks AO2

e Inferential statistical test identified.

All of the following conditions included in the justification:
4 e Test of difference noted and linked to research.

¢ Level of measurement noted and linked to research.

e Independent or related data noted and linked to research.

e Inferential statistical test identified.

Two of the following conditions included in the justification:
3 e Test of difference noted and linked to research.

e Level of measurement noted and linked to research.

e Independent or related data noted and linked to research.

e Inferential statistical test identified.

One of the following conditions included in the justification:
2 e Test of difference noted and linked to research.

¢ Level of measurement noted and linked to research.

e Independent or related data noted and linked to research.

¢ Inferential statistical test identified.
¢ No justification of the inferential statistical test chosen.

! OR
e Incorrect justification of the inferential statistical test chosen.
0 e Inappropriate answer given.

e No response attempted.

© WJEC CBAC Ltd. 16





(e)
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Explain two improvements you could make to your experiment.

[4]

Exemplar answers:

Reliability issues could be improved with techniques such as
standardisation, operationalising and carrying out a repeat of the
experiment at a later date. [2 marks]

Validity issues could be improved by increasing control/conducting

research in the laboratory not the field; increasing the realism of the task;

using a more representative sample. [2 marks]

e Any other appropriate content.

Marks AO2
4 ¢ Reasonable explanation of two improvements clearly linked
to this investigation.
3 e Basic explanation of two improvements linked to this
investigation.
e Superficial explanation of two improvements linked to this
investigation.
2 OR
e Reasonable explanation of one improvement clearly linked to
this investigation.
e Two improvements are identified but not explained or linked.
1 OR
e Basic explanation of one improvement linked to this
investigation
e Inappropriate answer given.
0
e No response attempted.
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INVESTIGATION ONE: An experiment on helping behaviour
7. (@) (i) Statethe operationalised experimental hypothesis used in your investigation.  [2]
S T e SO0 TS conddalian,
‘-‘NQ.\S\&\C-‘:‘LI-'\.‘(\LS nosenses \aaive  oQ uc\\:-sx\qs-m&

(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
why you chose this for your experiment. [1+2]




Sticky Note

1 Mark
IV not fully operationalised 




Sticky Note

1 + 0
Appropriate identification followed by description of the aim – no explanation of the reason why a direction hypothesis was chosen 






(b) (i) Idenlify and explain one extraneous variable you considered in your experiment.
[1+2]

b T OSS wade ase. Mook Yoo
Semmen, oo sole LooS Nak orcasd
W Socas o exored | S Vol sicudends
Mmtmebmmcg

c.‘x O OSCS .

(i) Explain how you dealt with the extraneous variable identified in (b)(i). [2]
SSSSN Q—Q_\"\Cdb o ook Secodo s cemalidk

%\Q‘{f} ovas\ \N:_Xge

(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]

S ESN P N TN L N ch_n_'_-z.\c&.\ Lon Huare  GeON \Wao
voode oult Was Q\MQ:::&.Q = Qe &'13.\:.4:&.\%
D= X weass cs«:\.\\:bq\)mé_ SOES oo \TW_.
AR ONAFEN, (v oSS Q\—u.hz‘s\c.n.&,.




Sticky Note

1 + 1
Appropriate identification (time of sale) followed by basic explanation linked to the research. 




Sticky Note

2 Marks
Reasonable explanation linked to the research 




Sticky Note

1 + 0
The identification mark can be given as it is appropriate for the explanation and the design of this research, but the explanation is not linked to the research. 






(d) Identify and fully justify the cholice of Inferential statistical test that you used to analyse
the data in your experiment. (4]

Cras o Mo - b&:\:&x\c.u_\. esk o
L3 e\ e o God Qe AlSsernce. \ohasean
S Yoo AT, ok ook  ecdasall

(e) Explain two improvements you could make to your experiment. (4]



Sticky Note

1 Mark
Appropriate identification of the test for this research but the justification is not linked to the research. 




Sticky Note

8 Marks in total
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7. (a) (i) Statethe operationalised experimental hypothesis used in your investigation. 2]
People are o citng . SO nelp o Pexon
Pick P Somethe Cnen ey Yrvuie e
‘Shrb oo Corw‘x».re_ JO OMe ho doeso-.

(ii) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
why you chose this for your experiment. [1+2]

M \'-:jpc\‘\—.e.;sxs (I.T:: daechongh  ANd. Crade
S St ol experenty O (e Ywd
(¢Seprddnadd \ﬁa.\\'ﬁtrb ebaioves  Ono. Xond
@ Blx Cm JU . Ca Conduson ek
Someane 1> Uz o oo Meword e
RESON NI OR\:Z e - Do We belhewd

-'{)tzu?\g RN AR our  \blundesr Wren dhes

et M. noo . upaea. U Duhu. “Wheef
foue  \X \;\)@wdfw.cas\o«*g 3 |

h——

EXami
(b) (i) Identify and explain one extraneous variable you considered In your experiment, -

[1+2]
Time. O ()OQ oS G @aneoo>  Voswble
e, corsidered o he  \omxon e e
&mlc-.?}‘__\oubv bk N Gaves. Do, ool Needah
do Troke  Jore emug\ ?ecsp\q 0ese u‘mu)
do o n. MNe  costn . Tor Our \NueSteafn
Q- Ok




Sticky Note

1 Mark
DV not fully operationalised 




Sticky Note

1 + 2
Appropriate identification of the test and explanation – linked to the research 




Sticky Note

1 + 2
Appropriate identification of the test and explanation – linked to the research 






(i) Explain how you dealt with the extraneous variable identified in (b)(i). (2]

he C)O:) befure Gz Mad.  Someone.

Doomvwor . OOy Shene . oF c)@ 6@
c)uz/)dwmom e.rbu::-y 59 r‘)ﬁmxx:m

OO d-\mr‘\bg'wm DN e Can
begin.

(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]

(V. Udeds  Tepaskeds  Mreasses. « N IO (RS

Appseprivke . Gs e hee&ec)\ IC__Yesr.ar
i one. \ne_\ip». purs D0 (e

' wt?n eedech 03 o U\S‘uﬁ @) 0\7, A e
AN DS (R ot "Y\“Q [ oy. .

(d) Identify and fully justify the choice of inferential statistical lest that you used to analyse
the data in your experiment. 14]

Wilioxsen Guen Loed. G



Sticky Note

2 Marks
Appropriate explanation – linked to the research 



Sticky Note

1 Mark
1 identification mark for repeated measures, Muddled – explains the two conditions of the IV rather than the participants repeating both conditions. 




Sticky Note

1 Mark
1 identification mark for appropriate test if the participants repeated both conditions. 






(e) Explain two improvements you could make to your experiment. (4]
We coutd one uweedl Non-Pasiitpant clermtio
betose Mo Paficipanis rediise d the
AN o e Tucks dorafese gleenancl

OO SN CS e aze o (eAILCLA iMernal

NAALTS KR T . . WSS L sewalna
W cméx)\ Ao WSe a b&@g SGMPIL G §
T oh[& agech s roaa Studets, ond.
BAOUL resSurks  couwdoh NOF Wauwe been

%gne,rwseok o0 Xexcc Q%SQ Sfbu.q?i. 5

42



Sticky Note

1 Mark
First improvement is a change of the method so not appropriate. Second improvement is linked more clearly but is a basic explanation – a bigger sample does not equate to generalisability. The hint at ‘other age groups is better but not developed. 




Sticky Note

12 Marks in total.
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INVESTIGATION ONE: An experiment on helping behaviour
7. (a) () Statethe operationalised experimental hypothesis used in your investigation. [2]i
Dep\in 'U: MM A
wisels of
ThetUowts o peoge. wilk volunbeer

mw.w

(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain |
why you chose this for your experiment, (1+2]]

e wypthents, 15 iredmnol aﬂoﬂm% W T &e
wholar thene 15 & comelabion  leetween e s
W hous & ersen. will 0 velunkter with

(b) (i) Identify and explain one extraneous variable you considered in your experiment,
(1+2]

Wkt rewond wob ond e mpugt A posnrd
wowld \wunt en owy gt audrence vhidh s
Yo uppoptalt b of inbereat to Y2 Ghudens Mty
see Wor Whetley siwdenly woudd  muvease. velunteer b
wWihen  soaled

(i) Explain how you dealt with the extraneous variable identified in (b)(i). (2]

We. renznded ¥ 2 o Ko Fhnderts With jely.
bies gy it oefors Hap we astad e questio




Sticky Note

1 Mark
IV not operationalised 




Sticky Note

1 + 0
Direction is appropriate for this research but the justification is inappropriate 




Sticky Note

1 + 2
Appropriate identification of ‘type of reward’ and reasonable explanation linked to the research 




Sticky Note

1 Mark
Basic explanation with link to the research – doesn’t explain why jelly babies would be 
appropriate or of interest 






(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]

We wed a independant . &wﬁn & wWhich wos wet
apropiialt fef the moegtauhon us tlae wert 2 vadae
e were M RSIPINY and e frding whelter flee wus
a conclehon. \Wndependastt desipn allowed vs  to_split tows
purbapanks L qunp . L wt defferent caaes and
0 e sHor

(d) Identify and fully justify the choice of Inferential statistical test that you used to analyse
the data in your experiment. (4]

We uged Spearwman L0 test wiudh f(ﬂD\)ZQd\Mp o
see 1] thont was uny core\wdnn sehote Ho* parjaldes aud
0 see Witter * hast oy Bpificance. Te Vet g0
mw onlzml“qﬂo@mé.% o See Ha dise how wwda

comvelation Mlere wos lehwtun He vurekies.



Sticky Note

1 + 1
Appropriate design identified. Superficial explanation (with some confusion) linked to the research. 




Sticky Note

0 Marks
Inappropriate for the design of this research. 






(e) Explain two improvements you could make to your experiment, [4]

Dee 10 te vabue o] the shly Haee wus wier lod b
vulidity ob Yest pasth wor sedal desirulibly bias  asfan
ol purhupis a6 Yoy may heut wankid +o loe wewed s
vl Newtr Hme all gurbcpuwals ghondd purbiugude N enda
venuie b shurting W with Wano rewwn) and Wtten K
et TG alowiny 15 b0 see o Mumencw tuease of dewese
™ He aumies o) owsrs  aundl whddver Yot rewoud e te
seond us%mﬁua%k Iwndecl%whr)us Fhowing 4 cleas coitlahon
% www swwpif w2, voatla Wndluding wele

purbpuds  cond oAt ! a&gaw ages Will allsw
us te haurtuse Velidity o8 flere 1s o wicler

uge o) purfidpunty .




Sticky Note

0 Marks
This design is explained in earlier responses so this is not an appropriate improvement. 
The second improvement is appropriate but is not linked to the research. 




Sticky Note

8 Marks in total
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SECTION B - Personal Investigations

You should answer all the questions in this section with reference to the investigations
carried out in your study of psychology.

INVESTIGATION ONE: An experiment on helping behaviour

7. (@) (i) Statethe operationalised experimental hypothesis used in your investigation. [2]

(i)  Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
why you chose this for your experiment. [1+2]

08
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(b) (i) Identify and explain one extraneous variable you considered in your experiment.
[1+2]

(i) Explain how you dealt with the extraneous variable identified in (b)(i). [2]

(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]

09

© WJEC CBAC Ltd. (A290U20-1) Turn over.

Examiner
only

A290U201

09





10

(d) Identify and fully justify the choice of inferential statistical test that you used to analyse
the data in your experiment. [4]

(e) Explain two improvements you could make to your experiment. [4]

10
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(i) Identify whether the hypothesis in (a) (i) is directional or non-
directional and explain why you chose this for your experiment. [1+2]

Credit could be given for:

Correct identification of whether the hypothesis in (a)(i) is directional
or non-directional.

Marks AO2

1 e Accurate identification

e |nappropriate answer given.

0 e No response attempted.

Exemplar answers:

¢ | chose a non-directional hypothesis as the previous research
has suggested different results, with some studies suggesting
that due to evolutionary factors, girls are more inclined to help
others in a group whereas social psychological research has
shown that gender is not a contributing factor and it depends on
how you are brought up. (2 marks)

e | chose a directional hypothesis as the previous research
suggested that girls are more helpful than boys. (1 marks)

e Any other appropriate content

Marks AO2

> e Appropriate explanation of the justification for the
hypothesis for this research.

e Basic explanation of the justification for the
hypothesis for this research.

e Inappropriate answer given.
e No response attempted.

© WJEC CBAC Ltd. 12


































(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
why you chose this for your experiment. [1+2]

08
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(©)

Identify the level of measurement of the data collected by the researcher in

this research.

[1]

Credit will be given for:

e |Interval data
e Ratio data

¢ No response attempted.

Marks AO2
1 e |dentification is accurate.
0 e Inappropriate answer given.











(c) Identify the level of measurement of the data collected by the researcher in this
research, (1]

.o



Sticky Note

0 Marks
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(c) Identify the level of measurement of the data collected by the researcher in this
research. [1]

NoINAL AQEO. -



Sticky Note

0 Marks
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(c) Identify the level of measurement of the data collected by the researcher in this
research, (1]

Ordinal -



Sticky Note

0 Marks
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SECTION C - Application of research methods to a novel scenario
Answer all questions.

9. A primary school headteacher received complaints from a few parents that a teacher was
discriminating against the boys in her class. The parents complained the teacher was giving
the boys more negative attention and less positive attention than the girls. The headteacher
asked an educational psychologist to carry out a participant observation. Using event
sampling, she recorded how many times the teacher paid attention to the pupils in the
class, noting the gender of the pupil and whether the attention was negative or positive. The
educational psychologist’s findings are shown in the table below:

Fig.1 — A table to show the number and gender of the pupils receiving positive attention and
negative attention.

Male pupil Female pupil
Number of times pupils 6 18
receive positive attention
Number of times pupils 12 4
receive negative attention

(c) Identify the level of measurement of the data collected by the researcher in this
research. (]
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(i) Showing your workings, calculate the percentage for the number of times negative
attention was received by a male pupil. (2]
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(i)

.y
*

Showing your workings, calculate the percentage for the number of times negative
attention was recelved by a male pupil,

[2]
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(I) Showing your workings, calculate the percentage for the number of times negative
attention was received by a male pupil. [2]
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(d) The educational psychologist decided to write up a report about the observation
for the headteacher. In the report she decided to convert the data in Fig. 1 into
percentages.

Fig. 2 — A table to show the percentage and gender of the pupils receiving
positive attention and negative attention.

Male pupil Female pupil
Num_ber of times pupll_s 15% (i)
receive positive attention
Number of times puplls_ () 10%
receive negative attention
0] Showing your workings, calculate the percentage for the number of times
negative attention was received by a male pupil. [2]

Credit will be given for:

Correct percentage = 30%

Correct calculation:

12 students divided by the total of 40 students multiplied by 100
12/40 x 100

Any other appropriate content.

Marks AO2

> e Accurate working shown and accurate percentage
calculated.

1 e Accurate workings or accurate percentage calculated.

e Inappropriate answer given.
0
¢ No response attempted.
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() Showing your workings, calculate the percentage for the number of times negative
attention was recelved by a male pupil,

[2]
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(I) Showing your workings, calculate the percentage for the number of times negative
attention was received by a male pupil. [2]
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(d)
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The educational psychologist decided to write up a report about the observation for the o

headteacher. In the report she decided to convert the data in Fig.1 into percentages.

Fig. 2 — A table to show the percentage and gender of the pupils receiving positive
attention and negative attention.

Male pupil Female pupil
Number of times pupils o .
receive positive attention 15% (i1
Number of times pupils . o
receive negative attention (i) 10%

(i) Showing your workings, calculate the percentage for the number of times negative
attention was received by a male pupil. 2]










(i) Showing your workings, calculale the percentage for the number of times positive

attention was received by a female pupil, [2)
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(i} Showing your workings, calculate the percentage for the number of times positive
attention was received by a female pupil. 2]
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(i) Showing your workings, calculate the percentage for the number of times paositive
attention was received by a female pupil, (2]
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(d) The educational psychologist decided to write up a report about the observation
for the headteacher. In the report she decided to convert the data in Fig. 1 into
percentages.

Fig. 2 — A table to show the percentage and gender of the pupils receiving
positive attention and negative attention.

Male pupil Female pupil
Num_ber of times pupll_s 15% (i)
receive positive attention
Number of times puplls_ () 10%
receive negative attention
(i) Showing your workings, calculate the percentage for the number of times
positive attention was received by a female pupil. [2]

Credit will be given for:

e Correct percentage = 45%

e Correct calculation:

e 18 students divided by the total of 40 students multiplied by 100
e 18/40x 100

e Any other appropriate content.

Marks AO2
> e Accurate working shown and accurate percentage
calculated.
1 e Accurate workings or accurate percentage calculated.
0 e Inappropriate answer given.
¢ No response attempted.
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(i) Showing your workings, calculate the percentage for the number of times positive

attention was received by a female pupil, [2)
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(i) Showing your workings, calculate the percentage for the number of times positive
attention was received by a female pupil. 2]
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(i) Showing your workings, calculate the percentage for the number of times positive
attention was received by a female pupil, (2]
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|
(d) The educational psychologist decided to write up a report about the observation for the o

headteacher. In the report she decided to convert the data in Fig.1 into percentages.

Fig. 2 — A table to show the percentage and gender of the pupils receiving positive
attention and negative attention.

Male pupil Female pupil
Number of times pupils o .
receive positive attention 15% (i1
Number of times pupils . o
receive negative attention (i) 10%

(i)  Showing your workings, calculate the percentage for the number of times positive
attention was received by a female pupil. 2]

13
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(b) Explain what Is meant by 'secondary sources' in psychology. (2]
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(b) Explain what is meant by ‘secondary sources' in psychology. (2]
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(b) Explain what is meant by 'secondary sources’ in psychology. 2]
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(b)

Explain what is meant by ‘secondary sources’ in psychology.

[2]

Exemplar answers:

e Any other appropriate content.

Information sources/data that have not been directly collected /created by
the researcher e.g. use of methods such as content analysis of existing
data, or literature reviews. (2 marks)

The researcher uses data that already exists (1 mark)

No response attempted.

Marks AO1l
2 Reasonable explanation.
1 Partial explanation.
0 Inappropriate answer given.











(b) Explain what Is meant by 'secondary sources' in psychology. (2]
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Sticky Note

 This response achieved the full 2 marks = reasonable explanation. Similar to the exemplar answer in the mark scheme. 
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(b) Explain what Is meant by 'secondary sources' in psychology. [2)
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Sticky Note

This response achieved 1 mark for a partial response. Again, examples are not necessary for full marks, but this response was less detailed (information found by someone else) 
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(b) Explain what is meant by 'secondary sources’ in psychology. 2]
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Sticky Note

This received 2 marks – clear explanation with an example. 
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(b) Explain what is meant by ‘secondary sources’ in psychology. [2]







































































(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources.
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(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources.
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(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources.
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(© Using examples from psychology, discuss why primary sources may be better
than secondary sources. [6]

Credit will be given for:

e Primary sources may be more valid than secondary sources as the
researcher has designed the investigation and the method of data
collection specifically to test a hypothesis. For example, an experiment
can be controlled to reduce or eliminate the effect of extraneous
variables.

e Primary sources may be more ethical than secondary sources as the
researcher has control over how participants are recruited and tested
and can ensure that BPS guidelines are followed. For example, an
interview of a sensitive topic can be adjusted to take into consideration
any sensitive issues that arise.

e However, primary sources may be more time consuming to collect and
analyse data whereas secondary data is already available; for example,
existing medical data exists to examine the effectiveness of drug
therapy for clinical disorders.

e Primary sources cannot examine historical trends whereas secondary
sources can be looked at over time to see trends and changes; for
example, we can understand obedience to authority at different points
in time.

e Any other appropriate content.

Marks AO3

¢ Reasonable discussion of the strengths and/or weaknesses
5-6 of using primary sources compared to secondary sources,
with relevant examples from psychology.

e Basic discussion of the strengths and/or weaknesses of
using primary sources, with relevant examples from
) psychology.
3-4 OR
¢ Reasonable discussion of the strengths and/or weaknesses
of using primary sources, without examples from psychology.

e Superficial discussion of the strengths and/or weaknesses of
using primary sources, with relevant examples from

1-2 psychology.

e Basic discussion of the strengths and/or weaknesses of
using primary sources, without examples from psychology.

e Inappropriate answer given.
e No response attempted.

© WJEC CBAC Ltd. 3










(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources.

(6]
Qﬁ TEQSOON Lb\\g.:.‘&-w- Q\M\’\\MC&'& v:m;.\ss
(= akic o q&:}. TN SN Cn I\ S O S U
boos Baels Beas ook A ee



Sticky Note

This receives no marks – it is a basic response but does not use any examples from psychology.





		A290U20-1 Eduqas A level Psychology - Component 2 Standardisation Answer Booklet Post-Examiner Conference 20.06.22 .pdf

		Script X

		Question 1b.

		Script X



		Question 1c.

		Script X



		Question 2a.

		Script X



		Question 2b.

		Script X



		Question 3a.

		Script X



		Question 3b.

		Script X



		Question 4 (i) and (ii).

		Script X



		Question 5a.

		Script X



		Question 5b.

		Script X



		Question 6a.

		Script X



		Question 6b.

		Script X



		Question 7.

		Script X



		Question 8.

		Script X



		Question 9a.

		Script X



		Question 9b.

		Script X



		Question 9c.

		Script X



		Question 9d (i).

		Script X



		Question 9 d (ii)

		Question 10a (i) and (ii).

		Script X



		Question 10a (iii)

		Script X



		Question 10b.

		Script X



		Questions 10c.

		Question 10d.

		Script X



		Question 10e.

		Script X












(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources.

(6]
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Sticky Note

This received 3 marks – the first point has some reference to psychology but it is basic although does make a relevant points about temporal validity. The second point is a better discussion of the strength but without examples from psychology. 
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(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources.
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Sticky Note

This received 5 marks. Two reasonable discussions of the strengths but only the first point has a relevant example from psychology so could not get top marks – just enough to get into the top band. 
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(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources. [6]











Describe the following ways of assessing validity in psychological research:

lidity.
(a) concurrent validity. e [2]

Commearing dhe Shudy Y= e Qrevions Thady Ly Ahed e
T TN Qroven ve valid ehore and 1§ e e ‘:?’tncb;

Qe S\Mi\ﬂfmc—k\w n methed
Ond  Qrxed\Wwe AN oY N Qercurrent validihy
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Question 1.

Benchmark script 1

1. (a) Explain whatis meant by ‘primary sources'’ in psycholoagy. [2]
C Bond- Qidked  lolocxakion o, Qe eseoadresr Deaseaslery

TN o %Q.L\.»Q\:‘.'Q oloascalnon,  eeeanadhel C\m.s...

\\QQ.C‘_S&;A\.S

This received 1 mark - a partial response ‘hand-picked by the researcher themselves’ but does not
explain how, e.g. through their own research or an example of a method.

Benchmark script 2

1. (a) Explain whatis meant by ‘primary sources' in psychology. (2]
Resownegs  Anal tne  vesearthe. gewn's Namyehvey
St viand o comidua Chny v ey VO earel.

This response achieved 2 marks as a reasonable explanation. It is not essential to have examples of

types of primary methods to achieve the full marks for this question. There is enough here to show that

the candidate understands that the researcher gains the data from their own research, without stating
what that research method is.

Benchmark script 3

1. (@) Explain whal is meant by ‘primary sources' in psychology. [2] |

p(aﬁ‘-.ﬁ,\.lwl Joue L PE&-ELLL{D_}f LS r'k plo.LQ_

Owo - I/O‘-*- (-c;._.v-.'.:aj- fL C-'-“},Jh-t l"fur-t—ﬂr«_t'-‘.n-x_ Qv

evein?  en proes oeel  divacd glasor wdioa op flad

No credit for this response = 0 marks.
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Script X
1. (a) Explain whatis meant by ‘primary sources’ in psychology. (2]
HANGE FOTAY S0 o 400 o0 QRCHY AmtArd\ g
OULGAY 1 sl oAy ERATAQS of MY Hufteg ot

QUIGHINALRS o suvay.

Your mark:
Examiner mark: 2

Reasonable explanation. Similar to the exemplar answer in the mark scheme.

Question 1b.
Benchmark script 1
(b) Explain what Is meant by 'secondary sources' in psychology. (2]

GRRO0A0Ey shurtes O IF0 g atd AGR erumaiy, and

RANOYS IR € A Gouries G0 OGS | bKS
O nsRAL ashicles.

This response achieved the full 2 marks = reasonable explanation. Similar to the exemplar answer in the
mark scheme.

Benchmark script 2

(b) Explain what Is meant by 'secondary sources' in psychology. (2)
e2eastTher eSS Coc \excatlhues

This response achieved 1 mark for a partial response. Again, examples are not necessary for full marks,
but this response was less detailed (information found by someone else)
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Benchmark script 3

(b) Explain what is meant by 'secondary sources’ in psychology. 2]
Reso afces. o (esex(Cael gcx:\b\i—:rs
D€ cond -and,, RSRRRL Al WG ol
eSS\ eca_cit:s e Ploducec, b\rﬁ Sorne oNne
elAS e e -qr iU qaieledd of\ie.

This received 2 marks — clear explanation with an example.

Script X

(b) Explain what is meant by ‘secondary sources’ in psychology. (2]
Resowees Yol e veserrchwes gains - Srvon ex g
date.

Your mark:

Examiner mark: 1

Similar to the exemplar answer in the mark scheme.

Question 1c.

Benchmark script 1

(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources. (6]

Q‘i SO0 Uﬂb\'\\_\;\"ém Q\ngx‘m%‘s W
l-uaui\ QAo E’\Qi. Loont K Ac \ae .

This receives no marks — it is a basic response but does not use any examples from psychology.
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Benchmark script 2

(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources.

(6]
g Aorme  rEseuarth YO TR Qo ok dodedd e for axamps,
e )

L\3\ﬂ5 Yeendd'S %ub\obuu.u\ (Lﬂudc{gn'xuﬂ 'nwec:’ [(Set

Secendany Saute Ay WG ssae (N wed neay, ec\rtj

O and Y3 viRws ay Sagly vellect Sotety ok M'\\\We

Vaman Ssurcey can. llow e T AN b= gown . bacue
:RC T S

Cuo.. Sgmons Gnd \Yﬁ\g’h‘: o O \"QQ'\C Mot wSearer woudnt
oo e Yo dissm@s——p) Vw\d.& A you e \stkking ot

wr e enorna i\ :
wostle Sred may. Yedve  Neen E et \.‘-ﬂmbe%‘ﬁ&:l

Aronced Viou  GNnETher  EOXEQITLRAS Anoughts And Agviun..
Gorm EXTUNPR. 1. COA. GO m*ng\o"fq'\\\ Qf\mc\ﬂ! Iewee \““\\‘rn(\“bh

"AQ !ﬁ‘-’\
$reen Qathagant. Smenahes and. yee et e Wumn(de's, %méjh'rs

This received 3 marks — the first point has some reference to psychology but it is basic although does

make a relevant points about temporal validity. The second point is a better discussion of the strength
but without examples from psychology.
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Benchmark script 3

(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources. (6]

Frimoiﬂ scafas o bketter  than q}ecundoilj LeUlRn  belaus Yo
conbe awe Thot  yoer own  method 55 volid &n{i (eluable, for
example, if o reseadchs  usey WMM/F Wetsen. and . Rayaw's
study of sty phobina, they, cannon le. suwe  that the fndungy
pet  coreet. Whde TIE wos  an ohwvation | and st s cpent o
(terpetotion. \Whereas  wath pOMAsY  Sgurss | rereosth (@ engue sy
wethedelogy and pradarey _om e vildand reliakie.

frether  eoron N}\:‘ pAMAY | sonfid Ny v  better xhon
b@cmdcxjj LUl s heCpusd oesy - t_hu::_wsj b N greyiows reaeaich.
T o fexenichu  wanted w meaearch & fouly a0 coneeps, bt
:Rnka prevesd  redeaeh on  thot  partiowled ot Cauddty shich

makd i1 hacd to mame . an_ afemerl  hupothesis,

This received 5 marks. Two reasonable discussions of the strengths but only the first point has a relevant
example from psychology so could not get top marks — just enough to get into the top band.
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Script X

(c) Using examples from psychology, discuss why primary sources may be better than
secondary sources. [6]

PEATIATY, Surits agt WAC AR RO s whtn nducing
REUFG T 1§ IR ©OWY shwes af B0 qpraly
CORCELA By el AWML feapd. TG MRStk
CRHGY SN WHUR NG oGS 6 dsg YW O MR 9appQsed
ot APPIOPTIALYL AV A SUOEC 10 L A OF thiw
QRN O QOGN QOWSAOONNE AR AN DO K & o prieny
QUL ey m\&mom (0 SN A Uil and s oF b
R Wty W ORISR s oF W
WL WL 00 RN (S Cln BU QUL AL e
M AN POVIAL SOmL 400 Ak 18 m\mm tthy @Ruch
oQLOMAATY WS 1Y fat EmPUUY AUERY & phiChoat \.N%. -
O HU 00 Y0 W GG OF W G000 bUNY uwadunn O susdd.

Your mark:

Examiner mark: 3

Reasonable discussion of both strengths and weaknesses but without examples.

10
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Question 2a.

Benchmark script 1

2. (a) Explain the difference between quantitative and qualitative data. [2]

, /K{t('}( t’.\ , Z/P / \J’" f,a’
) sl muwd onsy 4 .KM p/\:x—m.\ i

Quentrahe doda § Siodnhiced - dodo,. Weal aocladis oo
Bord ersuel R Oowieis wAerer ct_ua\'}uhbt dete. & oscsiPhe

G0 incades ol Mot dedmn , o0d 6 avelall houded Yo
CXN-‘—\\}’T*'L 0 (.akm{!cu‘ﬂc)r\, fu l'{*-«(.kl"“imwt aton

This received 2 marks — a reasonable explanation of the difference.

Benchmark script 2

2. (a) Explainthe difference between quantitative and qualitative data. 2]

MESsres, Quantalive . &S ddeahvz dabe = Number
Q\:‘rﬂnﬂ o Analhivalive. N ‘ak\\)\(c’ﬂ\le Acda - Lumcu_d

orom.

This received 1 mark — partial explanation of the difference, similar to the exemplar in the mark scheme.

Benchmark script 3

2. (a) Explain the difference between quantitative and qualitative data. [2]
Tualitasive dato s sup)ecine  dote
wherea s  guantitonve  dokoo s olikes

Wit punesical palue:

This response received no marks. The points are not comparable. Description of quantitative is not
enough for credit.

11
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Script X
2, (a) Explain the difference between quantitative and qualitative data. (2]
Quronritai e Aok s Qumeri cal  wahdle
) ol ) o : ' M ;
Queditakivt  dake 15 80 cdltai L sefpimcbion
(oS -
Your mark:

Examiner mark: 1 as per mark scheme

Question 2b.

Benchmark script 1
(b) Evaluate the use of qualitative data in psychological research. (4]
Bualxakive daden 5 wsebul u\».e,-:‘:\eaﬁ.h!'ﬂ\w\.is\nk
e Anougni.and. Feelings. & gaviRcipants.
Howeee~ 1% s dARRcat s compare. Ane. ‘.‘ff;\md(ngl...‘-:(?
qualkebve  deda

This received 1 marks — an example of a descriptive answer, i.e. it is telling us what qualitative data
is/isn’t and what it is/isn’t supposed to do; this is not evaluation. 1 mark given for hint at evaluation with
the reference to it being ‘useful’.
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Benchmark script 2

(b) Evaluate the use of qualitative data In psychaological research. [4]
Cdituhve duke o teenepaad for cwst gtudies m g
o deph derchphisn oA o putidpuds  phuions cu,,:?
life. expenences. bys 1neshgudinn. e matermal dep
N Uy ;}mmua Hraenred, is an example 6(j?xw
gueclitbive dafu within au cusehudy pronded & horugn wnd
derenprive wnvestgahm. Howewer  gualitulit dibu s subjedive
(el can har w expermenkes bins, won fade By
mvegubn v \.’lcdicfﬁ"ﬂ due o \is Oon yenad kas b his Owlj

This received the full 4 marks — a good comparison to the previous response. This candidate has
explained why getting an in-depth answer is useful (for case studies) rather than just describing that
qualitative data gives in-depth data. The Bowlby example adds to the explanation. The weakness is
reasonable with further development through the example of Bowlby’s subjective bias.

Benchmark script 3
‘_,:_1'_:1\\ ol td
(b) Evaluale the use of qualitative data in psychological research. [4]
C Quaditeahiye &I & s LE‘-&%N b psychslogical rieqsch
e 0 being yarw delaEd - TS con € yted in ofder
; W
&

Sog. (0Tt Ot MEn sch s FEVIELA

| JI".’_'J.’.JE'_ W '[ [I»U-"{S '-llﬂ’ull'?’ ,;;_gifg e '3? be Jr’{"fjf T g {\._l-‘.c:uﬁf"id
af represent o inkometon e Malg bar chart s

el Halh Mo Ong s S o {Fji'"(m_f ERt L’.gu:_l“-.’& A I:{_t.j

]

D _J[_'.Ji A v o nd Comp) | e & Y [_‘,i:'lcfﬂ

This received 2 marks — no marks for the strength but a reasonable evaluation of the weakness.
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Script X

(b) Evaluate the use of qualitative data in psychological research. [4]
Quakifutive dufn > vewy asogtd as & o e alfe(w';ﬁs.%(
Who why  Soretinly 5 ey an aky gonarebeliees i
oty w0 Mot cMas  gor uh depi) eeplewdites
‘tb ey QL“.-L‘J'HQ‘."ﬁ e rogothe A’MSJd’\OonG(/ ccm(d&,éﬂ’€
didor (5 hod o wosor 63y e s e
{j[;v eve Af&{cuﬁwiy t‘/mﬂpy JUM"‘ thut  [fon'f vevy
Spagic howeer Ty wmot vutes  Hed beppids
T ok \U_ - 5 ewvw 10 cmpme v oller veults,

Your mark:

Examiner mark: 4

A reasonable explanation of the strength which goes further than simply saying it can give insight. The
answer is developed to explain why this is a strength — it allows for in-depth explanations to the

research question. The weakness is also reasonable ‘hard to measure’ with an appropriate example
(ignoring the point about making comparisons).

14
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Describe the following ways of assessing validily in psychological research:
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Script X

3. Describe the following ways of assaessing validity in psychological research:

(@) concurrent validity. [2]
We To  eassiss  cencurent walidiy, (caeorchus  must loc of pencay
Ufl':Ldf-".d >

-~ . .
Atescarch o we (f there 1y Lage "‘-"”‘-""'t':r'm‘]' 1F there s condutendy,

Wwe  canl (oacdude that i sewmasch non cenguirem \u‘-uzlikj.

Your mark:
Examiner mark: 1

Although there is no mention of findings, there is enough for a basic response with the use of the term
‘validated research’.

Question 3b.
Benchmark script 1

(b) construct validity. [2)
ConsSHvy UCY wvalldiry . 1S wwhen e
M EFTN0A0I0 9y anch Procetures
Cf o StLOy Ove nolyskd to

MOEL  Sure PN PAFoT—RDoeoee

AN . 1O AN AN YaAviaik)e

L OS.XN8 _0Ne._Y0 . eroduce.. .
e CoanGe. o X8,

AL PNA LN voviow\e.

Examiner mark: 0. Nothing creditable.
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Benchmark script 2

(b) construct validity. [2]
To aaiess  cembuet  valdity, eapicrars mart kea ot tha qatent of

thevt meacarch  te see how mathful o actually (5. They can alag e
@perts o du fo and  ensue thewr  egeovth s AcTAnlly qtlrj,r..-fj'a-&.‘

i thed  wyes

Enough for full 2marks — the concept of checking the content and asking the experts for their opinion.

Benchmark script 3
(b) construct validity. M2 Sres ber® 21

0c8e i i s assesses  uedidity,

e

|
When oo ook ad Lhole, C(') Mt recearch \
8] ' |

No marks awarded — nothing creditable.

Script X

(b) construct validity. [2]
(ondrvist  ldiddy e weatlev o ol
e Fiedidld” pueoh cncoscaccl 0 panoke,
hnjare  tad L Saleas b g oy L
rme U R

Your mark:

Examiner mark = 1 — similar to the exemplar on the mark scheme.
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Question 4 (i) and (ii).

Benchmark script 1

4, Identify which measures of central tendency are represented by (a) and (b) on this diagram:

{8 DN i SER—. o i i ]
() NAoAe [
(a) =1
(b) =1

Benchmark script 2

4. Idantify which measures of cenfral tandency are represenled by (@) and (b} on this diagram:

(@) %‘M ....... NGRS . 1]

(b} e xiseuse, goiel 1!

No marks awarded.
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Benchmark script 3

4. |dentify which measures of central lendency are represented by (a) and (b) on this diagram:

@ Mean ; [
p - Wode - 0

Examinermark=1+1

Script X

|4,  Identify which measures of cenlral lendency are represented by (a) and (b) on this diagram:

)|

4

Your mark:

Examiner mark:0
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Question 5a.

Benchmark script 1

5. (a) Define the term ‘case studies’. [2]
A0 indegin. cnalysis of o peSHNS ehaniors  and
bukub‘mr& wanally Yeiy - gquaditebig dodu and ulgede by

nwﬂ\?}dv\‘s Werpretudivn .

1 mark awarded. Partial explanation — this might not apply to all case studies; no mention of multiple
methods or longitudinal research.

Benchmark script 2

Il5 (a) Define the term ‘case studies'. (2]

\ CQRL e QI an - BB shudy 6 o crvun s
TOU QRAETRR | & ORI irdiuidug); OF A0Np of wdiidulis. (R

] AL 0L BILE  SERe? 1y SRR COM0NG Y5104

| SRR |, SU 05 (VR VEMALS | QREYILA . and mstsvasing

2

marks awarded. Reasonable explanation as per the mark scheme.

Benchmark script 3
5. (a) Definethe larm ‘case sludies. 12)
(OS2 AAEES, 15 AEMENAGE neO\Q reFSriL,,

Lo S Ok o 3@4_@ ¥ people and Studliey
{lroy  of (o A€ eI,

No marks awarded — could be one of several methods.
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Script X

5. (a) Define the term 'case studies’. [2]
M am —deph- G-ncx\j s <X G Qamcdlar QErson, graip. O
evenk nad. ombnd ew number & Felhni ques Such
05 nverviews oand wehes (;".G-C.‘u.r‘n,-':’-.'f'lﬁf repots . Ao as5esy
e phaviowr . _.umnilg.ia«g.hldinm

Your mark:

Examiner mark: 2

Reasonable explanation — similar to the exemplar answer in the mark scheme.

Question 5b.

Benchmark script 1

(b) Explain one strength and one weakness of using case studies in psychological
research,

Ore %Eng\% SoANed ks weny detaded So Qrowides
A gread dtal & WS nSormation. em. Ane. Samle:
Yowevers | ovdoas uery. Mg {L:-rr‘surﬂ.'nﬂ and exgenyive,

uNECl. S e waRakKA eSS -

[2+2]

0 + 1 mark awarded. Descriptive response, but basic mark given for ‘time consuming’.
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Benchmark script 2
o . . - -
(b) Explain one strength and one weakness of using case studies in psychological
research, 2+ 2]

Onedgbrength op uling on cove Stacly .
dheoA the levred °L Aetail 14 Very. e %”\
Wwith  the c:’s.io;lr"("j o pr‘aduu.ce..........l.o.m..o‘,,.f,,_.
%Mﬁr-’rﬂﬁ""{- 3| nedh &y G anttative
Aata  Fom yaciows techaigues Jsuchag,
oy :
(& tests P In€oviend o ;Fﬂmltj_fﬂﬂd.
friemds. Ont weakney Op aging cae..
JiudieS s Fhat ey, ore  Often |Qn?jh&dlm{
{'étwﬁrﬂ e~ N QFFr'E.me{_(j {Dﬂg Hinne nﬁﬁfmglarﬂﬂtﬁ

ﬂ"” W ans NJuiJf'J Bﬂﬁkf;ﬁdm:}.‘ﬁr“caa =1
be obi- ﬂ\Lneq q,i.-l..utlﬁ’_,'hj

0 + 1 — description of what a case studies is / what is does — no evaluation of the strengths. Basic marks
given for how findings and conclusions cannot be obtained quickly (rather than ‘takes a long time’ — that
is descriptive of a longitudinal study).

22





Eduqgas A level Psychology Component 2 Standardisation Answer Booklet — Summer 2022

Benchmark script 3

(b) Explain one strength and one weakness of using case studies in psychological
research,

2+2]
One.._sfrengki o WIING... CAAL . 2tudieA in F;f}c}uhﬁalcﬁl{ reaeasch 15 Lhat
It Jeadd to wabid resutts, Tor ecample, (. Belogl study on matemal......
depovalion, azpeets of tha theve liet were learad ot (n detad | uaing....

Cost repertd  scheel  reperty aad  inferviews. This meont that h hndz,}'g;__.!_.gg:ggl_h_.
Wy

L tue_pene (valia) ohahostdigam . thaefot adaniy be: they ar dengaeats.
One _ weakhagy oﬁ WRng . et S tudies i r‘ﬁ;quu*“‘s.s«il waeo(ch ia. that
the fndiigs_ caneet be  guavaldied. For exampe, Gowiow's findwz: on
mateinol depwatien  coudd cnly b appuad 4o the pearicipants. Thir s
b conty Nof rn{.j.ar4nj hog the st Rxpelienaed. Vﬂr&;;wm-&

et vita tneqiid Fof capmpe, net | catigbidy grew g in care,

Examiner marks: 2 + 0

Reasonable evaluation of strength but the point made about not being able to generalise is not a
weakness of a case study (this is not the intention of a case study). Credit would have been given for a
similar point if it had been linked to difficulty replicating the research (reliability), but not for

generalisability.
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Eduqgas A level Psychology Component 2

Script X

Explain one strength and one weakness of using case sludies in psychological -
+

(b)
research.

A sirength o] uaing case shdies 15 He yelume g mprmin
lehanonr. Caseshidues exqlore all variehes @ futors frak
ondd mpck Wman shavionr dice to te qualifuhive dafia
wileded. W wealness &) use ghdies s the ]u.d(.od inenu)
validity as a pswhelanst of moethquine cond be Yiws i e
nkerpretnbion of dakn an exampie ey M-,mww&
g o vadbiad the Yonalle Y and walemd depeh
depinon whare W owm childhosd expeiences of wademdl
degtuhin odd e areded o bias i Wi resewrth |

Your mark:

Examiner mark: 0 + 2
Strength is descriptive. Reasonable evaluation of the weakness.

Question 6a.

Benchmark script 1
(a) Briefly describe the results found by Milgram in his (1963) research 'Behavioural Study
(2]

6.
of Obedience’.

B[ woese m&\cul o hose me\{QAQabes&.

No marks awarded — inaccurate response. The reference to the information Milgram gained after the
research (glad to have participated) is not part of the findings of the study.
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Eduqgas A level Psychology Component 2

Benchmark script 2

61

Briefly describe the results found by Milgram in his (1963) research ‘Behavioural Study
of Obedience’, (2] |

eF MC‘:)OI"‘:‘C}J S)3 Q(\ﬁiclix\n‘{‘s. GSY7. woent -"'mfc:n.u:jl—.

Al Mo e Xo. a2 €©nd eX Ane € menkt  ed
emtj:) nc) ?‘M. C\.\\M{j A9 Y- AR "

LaD volks, M—W aid n Soey ) Sheing

Ne exernrent ad ceaske  TO0 wals.

@)

2 marks awarded. The % would only receive basic credit (65% and 35%) but stating the voltage at which
the participants stopped added enough to the response to get both marks (just).

Benchmark script 3

Briefly describe the results found by Milgram in his (1963) research 'Behavioural Study
of Obedience’. [2]

Oy S eg Ws qurticpunds srogped the velleae before 300wt
where as, gfodmpurhupuhmmm@uﬁt
Mert of Wis purticapasds doeged tre iapading Copeamen ok
Owanauwngd 'k,

(a)

Received 1 mark. Ignoring the incorrect number/percentage, basic credit for the last sentence.

Script X
6 (a) Efngf:}y;g;s;gébe the results found hy Milgram in his (1963) research ‘Behavioural Srudll.*gl
PRI Rt ARV TIAL BE W RIaps 10 Gpianked
SN A, 5o cull B it WY OF B Onis
POOWEEUKS §A8  stioam G vl oduvons v, o4 bing , 000
TG 00 A B AW Ao asd slaakng:
Your mark:

Examiner mark: 2. Reasonable description.
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Question 6b.

Benchmark script 1

(p) Milgram conducted an observation of obedience using a volunteer (self-selected)
sample in a laboratory environment. Evaluate the methodology, sample and location of
research used by Milgram in his (1963) research 'Behavioural Study of Obedience’. [12)

e ovcos . all wodes. Wm N
S SDaowess ok ucescta casty e
SoXet ond , o Qeana \execsss Beod Ao
Lol snase qeoss bo ba lsoses Wegs
orems | ewe—dn, | COSRK L..\.«z&.-t,nd-; SRR
Gasen Clamloemys Sescer Sudaal) S
oS auts ©ed Goued Lok tha had

Very basic evaluation of the sample with incorrect reference to Gilligan’s comments

Orctar—ooeoderemtc—  NowRees, ol snedex

Harm not mentioned
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beslke oxd  udushearal cdnadn slag e
Qrsax  ceadtivokon : Nus caadsalbon saank

Yok oo SolAIL ey ushunkeas Qn%i\{m .

= Mians exdlans.  daacdiane’ nﬁ‘\%&.\\i’-

Assumption

Fr Cordmdiormny o s, exen Weougn s
bhosro wa.%\m@\:m\ woddn U, & oo
SUESANS, OO Chaies Qast - e ceskesh
QTR - 0O Xhank m%m\%w
Degse  UDQsS o me%%@aﬂ.\%a_
coame axd dSheck gaueks - T Qe case
Mﬁm Seow. S ol uoeas
oodhlean uothouk  couse  cnd, efect: .
Tos Shous NZeaX whak S P PETECERTES SN
WQQ MMMW
QWW ook s o aoede\
ATR WMo coeagST dia ouse UoRS gessas

Discussion of the lack of a control group is not relevant.

Cushscooose. | aoatier aseakwsosy oo
oS Vs QAe\ccoanndk selsdacss . RenSha

a
wﬁmﬁw
b

B S = = N e e M e, = e~ e WLV
wex The oo oausde oF R shudu wods
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Gh)

AO3

=

L AN

z>

Q{.{\(\B\-ﬁhd, oo Geea S;r-?_v\c:ﬁ Qv cSscanse -
SxaneS =R da Haelcomnss o slolioe

bo wode ool odoa the stale Qo
e Noocoael woese so OSeedoewk
ga\mMmmqumm

o gurk aR Wos , odneseos e scddaa
Ak ook Ceon , Doa bo Naa oSS Oamelimnced
B hadh ke comsok o Bemis oot
Wose  costiagaeds  cooxsked o kale

S

cxgen,  Oowose Hcgg\m@xﬂn\‘& toshs SoeaRe

Qe W&mw@m ok

AO3

Examiner’s mark —3

Thorough valuation of one element (sample) with superficial evaluation of method = band 1 — 3 but the
conclusion pushes it into the next band.
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Benchmark script 2

(b) Milgram conducted an observation of obedience using a volunteer (self-selected)

sample in a laboratory environment. Evaluate the methodology, sample and location of |

research used by Milgram in his (1963) research ‘Behavioural Study of Obedience’. [12]
M\kqm Wed & udwkees Scung\e ’fhr\::\\t}\n Q. Aadwe T -
menk i G nRUWRTCESr tnak YO yree ct,c,ed 20 790 ApOrS |

fonacpanrks/” ¥
o\ sed Cov 1\;21-'(31--\.”9 Nz '?!l.l'né.z Nkl eer "'J(sn'v\'b\j
i ]

Con cawre Malumtees Yaas and v»ie e reproatshle
I M case M.\smm‘b gepele Stuvgle N n &\ yepre-
Sertedilt gk e Wk wides population  and So eesults

Cannlt Yt rneralied ko tettin groups Suck AS,

WISy s« It was not Milgram’s intention to propose a theory of obedience
applicable to women at the time.

M;\ﬁfﬁ!ﬁ A s Omenvedon W & \ehoratony al
Hlae Mnwversy . This can ave an Bl ek on
e pamcipant o esthave & "Bac\’mly deviecle
w"WaNoy- A3 ey QAre an @ vfﬂhgmm Enuronmen k.
TNa i caMed aecial destarblily Ymes and in Anis
Co3e. rey Ay Y more aeascred  Bdoedient @
oy Woligve ™heir ‘eelaere Whauvor vl he
Tavounrole, in suack o 3Xnngy -

Milgram intended for the location to be prestigious so this is part of the study design — not a
flaw.

> M{\%rm* oeaat ninsel§ . DX ot The lotation
Nake s Qubheratorive Aa\N and may tause  gamcpants
W Nnoce . Shedienk. Meaning Mnod fne \Matahan
cmﬂq T
[oN ok Sfkcked—ore SpEe oy NOVE

(\“—ﬁ(‘(ﬂm‘ VAR '-ptln\ S Rkaviwe,
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e meinedoleny Weed WY o Covedk Smeniion

Meaning Yhal Yhe Qoreedantis videarCrer S antenyions
were  mddes v erder Qroduce move  walld
daka - Wouwweves, s rQiseS ar S3ue & wether
Nlgram  duly gained Ahe rhervned  Cornsent  o¥
s Qarheganks R ey didnid Know The Anae
NEenbhors Yaelhend Ther YK, Vouweve | Py BANGram

idying Mis. {erscpanks. Coveilly, nis. grevents. | AO3

M. o pgriirg Yso inwdved  Gnd cddedched b
Erey Omcnmbon  Nimrl? and pesdily afkeoting the
A ComaS.-

Wﬁ\ug“-‘\b-d\gm W ConClitmoe , Bl W .\Srnr-rﬁ SReneh -

1Omal Thady radses  Conterms o awethes his yeaits
Qe WAkl 2nough e dec e 'zntLe*U ts 0 Whae
L\, L - 8 represinkodive  and WS vy Shaild
- Y= wWed uhree- e gained XNt Y Qo

wreedhical  rranoe.

Examiner’s marks: 6

Reasonable evaluation of one element (method) and basic evaluation of the other two (location and
sample) so band 4 — 6. Some of the points are generic so lacks depth in places, but a conclusion pushes it
up to 6.
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Benchmark script 3

(b) Milgram conducted an observation of obedience using a volunteer (self-selected)
sample in a laboratory environment. Evaluate the methodology, sample and location of
research used by Milgram in his (1963) research ‘Behavioural Study of Obedience’. [12]

B weabkness »jl/lilqnuw'b Wﬁ s the umple  gmvea)
o) oy O men behween 10 - 50 od. TTag hag
?mﬂ"l shudy  low &%‘ﬁ“"mwﬂgﬁm e Sumfle
owly - frestnls ke wuh vespase o torrgmands, Hherthre
k15 dlfudt o wgoRden hethe fruley wonkd ratpand b

wWih  gheciencence  in the sune Wy, Money due ko

AO3

Yo nabwre o e o) v yousoring seldied

URY Lg:mdiqm%mﬂ MM::SM%M gﬂ@*ﬂ@“&d
'vuvf«\ vadidi “Bhowing e impck cwdhombitice people. hant
on. peopless ebedience. “Twis T w ghengh ¢ the Sy @
It helps us widesfwd  peoples pdhunms  When espedally
Wﬂl‘l‘\ﬁs& ™M %,WMLMMS asdd sblar pedhibng wiest
o. pUssN iy wnMdcdcﬂuefn{u{{aquwwvt
pesom,

R weudu ess of Moo hudy 3 e lach of ecologd
vkt e vestigatton wes conduded ta a lubahn
0wl mewsuny e ervmnment was neally
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winealighe o petenhial wos eavivormmenss. o Woweolr

St dae M&W YW Ient, being @ laJoruhrrj

W%}mm Nereored %\\dmltly c/] m.smﬁ,

N %ww}/ﬂmﬁﬁ m}mﬂ*ﬂﬂ Vofbles, s Handere . subing
e siuly trelukle. AO3 .

Hﬁmﬂﬁheﬁ%\eeﬂwﬁﬁ%w&lsha{h@o cdc@

ard, « Cun. %ecml-j ke reconsrmued. The. M@{wdm whrch
too mvesgubion was canied. e 15 very . clear oind awmpe,

MLIQM!: WU cp'\"m e Gumip Mﬂtﬁ @ In-”hﬂw{ in

e g TS gue - 2 SHperment W der- wer
NJIqu"hlgkﬁjﬂmrt Wb, mmmm%m

v Prvmﬁ}' tle . p&rﬁ{.fpmﬂ' Basic | .

nother sinandrin. o) the et & that Hrey nsect
A pﬂjﬁf‘?‘wu{:j 6&»\?‘(\'3 wwih allowed. fle prbapunds bo
e froma o vanthy. of sedal tlus, gl descaphia. and.
aukwrrd Yoadesnds, s Woreuses fhe eklemu) Yy, w
uuMJhnjeﬁ Mo og Shady o Yooy pound that peoplea.dwﬂ
bt cnd oudhgrinnd cun ke \ww\"g m flaenced o vbe:j
“ﬂﬂf_ 'ih GMMVUT'—&. Haurejoee W Mtfcfmmsﬁvdﬁgs nANe
wedialsle Basic

Whalt Wiztny ﬁmfelvm}cg ond] o the puper faut
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iy
G (b)

AO3

Feld &e Ydad purhitipund” Has (B¢, helped evsure
fe purticpund was e kades Wm?hmcﬂd&&t
tommands, Uonerer e Smdy  wih iy wn

ond hed magoms poydeetoyicad (mpacds on some
pusticipunts; digtress and anaety. af the
lharm ey m‘nﬁ o Mee ' lewrnes (t:qdf&dm.ﬂf)

AO3

o wncde  Milguum's DESTYhr bered W‘»
Uo.hchlv use\ wblud\lt}j M m.am imQuck 90
autharenditive fynnts 6n peples behuumm. Throwgn
the sample size and wsmy a?o(rwdy Supplng He
u;h»-e:éhcﬁhw %m%}m o\.w-;ga!c p represendeion
W udS
o S’ iy i WM
wonld respord.

Examiner’s marks: 10

Thorough evaluation of on element (sample) and reasonable of other two (location and method).

Depth and range, all evaluation points are relevant to context and there is a clear conclusion— most

features of top band.
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Eduqgas A level Psychology Component 2

Script X

(b) Milgram conducted an observation of obedience using a volunteer (self-selected)

U 0 GO VOUIS . TS (RS W 5500 6 QAL

sample in a laboratory environment, Evaluate the methodology, sample and location of
research used by Milgram In his (1963) research ‘Behavioural Study of Obedience’. [12]

b WIS OF LA S Gy Wi hay 104 10w popsonee
YALAGRY-  THS O LR WY SOMBIL  WOAGH OF  MARS wighg A
SROAL WCANON 1A 40 Lol WL wl adynas 06 w6 sudy cdint hl
JUAIAMERA VO (TR AMROUAN WE  unAINNS SR A WR-FUHABANS
0 THAREEY OF GL pARUPNES WU wind 10 WIS YAy jan
wAlG OF ehUE 10 W8 e mosdy m It NN
SUMAA HAE R O (UL fAmplL wold ' g0 oA
R G WA 1'0% Al ik gl sdy 14 o mumuuu
‘m\m O WS 0 0 SPRIAE OOOHON @ 1R SR i % Wt
W ARG ok bt QUGS 10 op Suarts dut, 10 Gty

CQER OIS Shady 4GGRES il N of dEEUNR oty
VOILS  Agf uprR UOROIAS WL QHUOCAneC vt hAL TR ORIV,
VU O WARES oot G AR OPOILCARIL 40 Q) WUIKL R Sk &
O (RO AR RORG WAt G Oy Gy 8 R Swdy

OGN OF BT COUUY AIREAERCTS 400 Whith TGS 1L LONKAre,
OF ANOCUANGM Mot W QG0 B 6O0N9S capntt b usanstd

TR0 WU phOUOAROH TRAMEY WA RGNS sudy 1A% 10w
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PORMOACO VOHAIY - KR RIS 16 O WRANIRSS (¢ MOQIANS Study

WO & S RS chudy § At G K05 ok Tl
VAR WK IONUDOD vaidgY uS ol 06 MR sy was
@OANERY | o (abUQASUOY EQDOMAL. W K \OROKICY WW(conmint
QWOWH MARIfUm CIROL (O WAIORNS &b Bs, MOt wowd
KV ) OHY 10 kB hL W m IR YVER TS

ack ARG (MG, WA Il BV AR R
ond 1irpotkdd L &%\uls IHBUNR. it am\um U1 A A R
Ay W OOAOG o WO Gtidy WA MOy O eweoe Rt
OORLNS v 10 TPIUNGed HA0CQ WAk whimy yaudisy i o
UGN o e Sudy.

W WOWY, g o0l b0 dodueid ehal e RROREDS
Skl W sEEnaths - This s bQLALSC
mgram d paded to toud  PhE bR
fndgn g2 CWN DR

Your mark:
Examiner mark: 4
Basic evaluation of two elements (sample and location) — band 1 -3

Examiner’s comments: Evaluation of the sample is basic, as the study was never intended to be
generalised to women. There is a misunderstanding of the term ‘location’ (USA) — some credit in this
paragraph of ‘observer’s values and beliefs’ but very limited credit for comments on ethnocentricism;
Milgram’s aim was to distinguish the differences between German and American soldiers/men so this is
basic evaluation. Superficial evaluation of ‘limit the effect of extraneous variables’. Superficial
conclusion gets it out of the bottom band.
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Question 7.

Benchmark script 1
INVESTIGATION ONE: An experiment on helping behaviour
7. (@) (i) Statethe operationalised experimental hypothesis used in your investigation.  [2]

‘.-‘u:;:)-hix'caa.xk\gs uﬁm NZouas o6 uc\mx\qs-mtk» 1

IV not fully operationalised

(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
why you chose this for your experiment. [1+2]

Qﬁg@&a\u um\xxs\\euq.:\m\\m:&

okl Lo
ve@% eV [heea

1+0

Appropriate identification followed by description of the aim — no explanation
of the reason why a direction hypothesis was chosen
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(b) (i) Idenlify and explain one extraneous variable you considered in your experiment.
[1+2]

b O oSS wvcade Sase. Vo Yea
Semen, oo sole GooS Nak orand
Bre NMoces o exoxes | Sc Weodk . staudenks
Avh ook baose ke daue beus &0

ckuxx\:een}(x‘:‘:b c;m\-l TR0 oC

L5 O . o e e el 1+1

Appropriate identification (time of sale) followed by basic explanation linked to
the research.

(i) Explain how you dealt with the extraneous variable identified in (b)(i). [2]
SSSSN Q.Q_v\cd o dood Seoadou s cemalsd

S RURAN AN 5

Reasonable explanation linked to the research

(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]

T sdagandank Aosiges —on Qiare GCON Mo
vt oul . las Q:\"""W . Ree. Soodss.
D . weass cs&\\:hq\)md_ e CL‘\?W.:L‘R&\..

(S T Hs LI o ST L P Q\ﬁm 1+0

The identification mark can be given as it is appropriate for the explanation and the design of this
research, but the explanation is not linked to the research.
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(d) Identify and fully justify the cholice of Inferential statistical test that you used to analyse
the data in your experiment. (4]

A Mdged = Ged e s odhasean
= e acoegs . ok laosk exAanall

Appropriate identification of the test for this research but the justification is not
linked to the research.

(e) Explain two improvements you could make to your experiment, (4)

When a candidate does not offer a response, make sure you use the icon from
the top menu in e-marker — do not enter zero marks.

TOTAL MARKS FOR THIS QUESTION =8
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Benchmark script 2

7. (@) (i) Statethe operationalised experimental hypothesis used in your investigation. 2]
'R{O\D\a afe. Mot OJ‘“\QQ\ Jo \he;\p &’\)@mm
Pick Lp Wke *‘i\\z:) Yrouse e
Shrb N COG\:‘):».\'Q. JO SOMe hoe doesoy-.

DV not fully operationalised 1

(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
why you chose this for your experiment. [1+2]

M \'-bpu\‘\—.e.;sxs 1> daecrong) ANl Chade
S Soo oL cz.pqr)'\nm\- o o Yadh
(€Seprdmed \ma.\;itrb bal-@tww_ O

M%G* CGI‘"}Q_ Ju . G Condwuson Nk i
Someone 1> Uz \nos oo \esord e
1> e § OQQ el - Do e beerd

-'{)tzu?\g RN AP Our \JU\U nder  (Wren dhes
3ee s Reon . uieso Sung. et
fove X \;\)@wdwm«»g §)

1+2

\.)

Appropriate identification of the test and explanation — linked to the research

EXami
only

(b) (i) Identify and explain one extraneous variable you considered In your experiment,
[1+2]

Tiree. O e G QM*T-QJ'\QWD \Jos vwiple
. corsderd oo The \omxon e Chene

bm’V bur N Gaves. S0, ol Ne
c‘.ru Toke Dore emutg\ ?e(sp\r? ooese '
J0 e In for  Our (Nues

Appropriate identification of the test and explanation — linked to the research s 1+2
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(i) Explain how you dealt with the extraneous variable identified in (b)(i). (2]

he C)O:) befute Gz Tad.  Somneone.

Doomvwor . OOy Shene . oF O@ 5@
c)uz/)d%zmom e.rbubybg r'}ﬁm@L

OO d-\mr‘\:)g'w Sare. W e Can
begin.

Appropriate explanation — linked to the research

(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]

(Ve Ldedh . Tepaeds  Mreaae> « NN KRS
Opoepridke . s (e Neededh IV Yedt . ar
’\"’nwvj one. \n?_\ip».cb odrauicers Do (Je
' Needech O G‘S‘uﬁ C)O\?; Ahs e
AN RS (R Ut "Y‘ne [0y .

1 identification mark for repeated measures, Muddled — explains the two conditions of the IV rather than 1
the participants repeating both conditions.

(d) Identify and fully justify the choice of inferential statistical lest that you used to analyse
the data in your experiment. 14]

Wilioxsen Guen Loed. G

1 identification mark for appropriate test if the participants repeated both conditions.
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(e) Explain two improvements you could make to your experiment. (4]
We  cowdowe uEedl NpO-Pasiitpant. cloermtio
beCouse Mo PAMIipanis edi\ise o the
AN o e Tucks dorafese gleenancl
oo SN CS Tive axe ol m&mﬁn& iNesnan
Nvo\da WS s .
(WA CDQAL‘)\ C\o WSe o b]\%g SGAMPIe QS
woe ol asech st o Studets, ond.
YA OM resurks  coudol NOF Wowie eeen
%Qnefmseot v o, 4 Y C@SO C}fbuq?.i
S0 0o poople. o~ L

First improvement is a change of the method so not appropriate. Second improvement is linked more clearly
but is a basic explanation — a bigger sample does not equate to generalisability. The hint at ‘other age groups
is better but not developed.

TOTAL MARKS FOR THIS QUESTION =12
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Benchmark script 3

INVESTIGATION ONE: An experiment on helping behaviour

7. (a) () Statethe operationalised experimental hypothesis used in your investigation. [E]i

6 ki / ook velun
ﬂ%qa@ peope. Wik volunteer Wortuses When ey
Cung mwdf,d —_ IV not operationalised 1

(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain |
why you chose this for your experiment, (1+2]]

e Wbttty 15 cikdivnal odlowtnd us o se
Loy thene 15 & comelabion Webween e numdstd
W hous & ersen. will 0 velunkter with

Direction is appropriate for this research but the justification is inappropriate

1+0

(b) (i) Identify and explain one extraneous variable you considered in your experiment,
(1+2]

Wkt rewond wob ond e mpugt A posnrd
wirdd st 08 owr gt audrence vhidh s

Yo uppoptalt b of inbereat to Y2 Ghudens Mty
see o Whater sdenly wodd muveakse velunteer b
wien N’-W’(f‘al . 1+2

Appropriate identification of ‘type of reward’ and reasonable explanation linked to the research

(i) Explain how you dealt with the extraneous variable identified in (b)(i). (2]

We. renznded ¥ 2 o Ko Fhnderts With jely.
bies gy it oefors e we astad e questo

Basic explanation with link to the research — doesn’t explain why jelly babies would be
appropriate or of interest

1
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(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]

We wed a independant . &wﬁn & wWhich wos wet
apropiialt fef the moegtauhon us tlae wert 2 vadae
e were M RSIPINY and e frding whelter flee wus
a conclehon. \Wndependastt desipn allowed vs  to_split tows
purbapanks L qunp . L wt defferent caaes and
t euch sflor

Appropriate design identified. Superficial explanation (with some confusion) linked to the research.

(d) Identify and fully justify the choice of inferential statistical test that you used to analyse
the data in your experiment. (4]

We used Speartwan 10 test wudh allowed ws to
see 1] thort wos uny corveladnn ehote Ho* panalfes, cud
to see uWhater i hadl any sipificnce. Tre ineestiiien

1+1

vt sy o Talovng s to. See He. diae hows wessh
convelation ere way lbehotun He vadedies. 0

Inappropriate for the design of this research.
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(e) Explain two improvements you could make to your experiment. [4]
Dee 10 te vabue o] the shly Haee wus wier lod b
vulidity ob Yest pasth wor sedal desirulibly bias  asfan
ol purhupis a6 Yoy may heut wankid +o loe wewed s
vel. Newt Hme alk purhcpunbs. ghowdd purbiugude N endh
vefuoR hm-hwa’mmﬁ«%.no o) and Wtlan He
vtk - TS allowing s b0 see o Mumencw Tuease o detas
™ e e o) vowes  aond wohdoer Y tewourd He i te
seond uﬁwﬁ;ﬂ%ﬂdﬁdmm Fhowing A cleas woielahin
%«wm o Suyw?ff %L, wﬂumdwﬂmj male
purhapunls amd patha .Ojc&g&quqﬂs Wil i
wS e taureuse Velidity o8 flere 1s o wicler
uge o) purfiapunty . 0

This design is explained in earlier responses so this is not an appropriate improvement.

The second improvement is appropriate but is not linked to the research.

TOTAL MARKS FOR THIS QUESTION =8
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Script X

7.

(@)

{i) Statethe Wus&d in your investigation,  [2]
e pumiber of ge@le fr helQ Yo getseD
vt AU SNney - seadds Ve Gedel. on Ll

Alg. -3\ i.m]-

(i) Identify whether the hypothesis in (a)(i) is directional or non-directional and explain
y you chose Lhis for your experiment. [1+2]

T'-E U\j@ﬂlﬂqﬁﬁ 5 deechonad oS F C(\eudly Links
e diffeene e el condinens: Tle. rosen wlvy
1 dhee o dictchigned ln.tj Polest  Liould he Wecaue
ofef  (Beurchh Wy een dore @7 on l«”{:ii’li%\ el
(M‘%ﬁ&m@ baslh e Sinled
floheses b Mk AL b (aitls E&Evj‘ A celly
lin]A He. ireehin. o F (et lt?ﬁr_{{x% ond  hae Gk laf
PLSMI&- Meche T ol b s the asulle vare enfecled.
Tovlewtda s g pop- cirtchuncd l«\jpc.u%-l{:.:’u o5 Yaf
Wondd-- Y fuL..—.eleaing. o nead SN Sy o kK ot
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(b) (i} Identify and explain one extraneous variable you considered in your experiment.

[1+2]
O 2abe0es. NS L consdeed in ny Fesmst.
EJ&@?A" WA et W e ('fuacmm‘ﬂ; ok g, g
ndoridmad ol oo peile, ol e S X thi o
\Oﬁf BN LK, s lk\]“ S0 N et Ok 1..-;.0*} ey e
M ﬂlhr r’ﬁa Aoflerendly o, 6, [!f_s'am... Wt G MUEE

o LN # 6 Vel .5.1.,1-1/. ssstraneth tﬁ:ﬁﬂw‘:{kb
(i) Explain how you dealt with the extraneous variable identified in (b)(i). 2]

j_ E.if_c-!.“ Aol s O antews. voedolie Jay
m{ufﬂ -ﬂﬁ‘- Lopderpde. o ok 0n anwish ond podidel |

Lé, q};:r;.:'..i‘n’j{u_ 10k few. v Lt’ti%t{?’qﬂ:ﬂ]‘r Lk

Mo s W...E&iclm g Yre e 88 deQeed W beolas |

(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]

A5y \I_‘;‘i,w*f ke
W AN ;\JL/ e k&ﬁb{f}-’l wi"_-\‘ l

i L wp& DLLCE P{imr 60X, WL . gt B sy
G- eeQb. . .:1ﬂblkﬁ(i...;m...£,m&?i-. .c0ly. e (codhuty: ..
Tl Wis Yo guetdl jsswes ke, W ordef edtect. of. .
deppacndh . NN OAARCENES 4 gtk g0, L. Can_ el P
AU o, TCALAIL. R aldode ds. gssiple -
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(d) Identify and fully juslify the choice of inferential statistical test that you used to analyse
the data In your experiment ——— [4]

st d O Men - Waarrely W NSy B8R Tk Vot
‘mmug_.} Mo CALRRGON - oS, 0, s} of dittertie
CMLhve M omeant ok Peoig whe VEIRE haifed Mo
Pu;w V) U TR AAU T O ‘il%.[‘*.&'j..' (e heconst M h\,pﬂ.xmg.
Wos o dwredicted ete. 1o00d lastly lwasse. ML deden,
WMo Togced Wy Lo doghatt, Mo hoasinON. doXa.:.

(e) Explain two Improyvements you could make to your experiment. (4]
ST Brek do T e ik o WA EXREMNT (onld
M We o Senle Touwtd T ebtieast W sowle wes
{M{it.. t{"mrwlhx .‘; ;M:ﬂ f*tj N ddd AR CWlerenie...
Liw{l Yol condanbes - Tleathiks. Towseald intrwe My
ﬁmﬁm i oty iv 0T E. U ..;?.,Lafg_.{m..s_k.....u..::ubi.;.l.ui:.y....._
0. W aciaady. oF Mmay conchsian. . i
el SeLowmnt,. 550, S LEu. v M&Nﬂ 'HL'ﬂ&r ..........
ML Wt OF oo Male ey contedarade Twisis @ bhecase.
g o e seen . 08 .ﬁj.ﬁntba(... hioied. arﬁ;’ (eek L g
he. eprseodMe ef fe Ju (ePaNTD - Dt 3ol
SOt D ealed Nl uf.u,.u'{;llief 7N P'LL@UE_ L, M l.Liu,L/!w
b D o Femede . n comecsoD broa Medgy So e
oL ol e heen ety ditenonk: J e ﬂ-.'u\?fm'ﬂ. Am
huj o Meltioty AMA . LondNEn b, vern fte ookt
Coohdarale  uia. o Ming...b-Ae. Skieg B o bensake S0 oehal,
*‘ (mprrt ﬂ.amuli"; i M- et e pmale (oohichaeie -
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Your mark:

Examiner mark: 15

7(a)(i)=1
7(@)(ii)=1+1
7(b)(i)=1+2
7(b)(ii) =2
7(c)=1+1
7(d)=2
7(e)=2

Neither IV and DV operationalized.
Appropriate identification and basic explanation linked to the research.

Appropriate identification of personality with reasonable explanation linked to the
research.

Reasonable explanation linked to the research,
Appropriate design identified with basic explanation but not linked to the research.

Appropriate identification of inferential test for this research, with one feature linked to
the research (test for difference).

First improvement identified but not explained, Second improvement is reasonable and
linked to the research.
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Question 8.

Benchmark script 1

8. (a) Explain one strength and one weakness of using an interview in your investigation.

[2+2]
I D U= PO %W%M ot an -umkm
UonsS, Reak Wnese  woos waloex - mhl.’ahl\i\\x :

o= uoeen fooe - o Rua - oSema . qpuasicons
Ao tude ::.wkk\u\gxcc LS .
e corsistenon @Q fecse se e NN
_odooe - &%\Q\Q\@h Not linked to the research

O\ omead e a0 aan alemeuiens O Waeke

%\:") Y QRO e aXlo N

- ogu;\%m

Basic but not clearly 0+1

linked (startled them)
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(b) Explain one ethical issue that you considered in your interview and explain how you
dealt with this ethical issue. [2+2]

e Rucall  Esues cocsldesad  woos
consank oS Tk & ol wolpe Sodsee o
Q::;L}\c_c.'brls.\% Soeeoles .\ A0 et eawmk
ooSmmeslian. aem | Qsall vaddael U h’Q
m\r_u\c\ QveiShilon, o Qive. cansandt

kts-eg\(c::Q c:}‘ ool YT OASL':_ Q\_x_\"'&.s_f.

0+1

W\w{m & Ethical issue not explained or linked. Way of dealing with is

explained in a basic manner but not linked to the research.

Benchmark script 2

(a) Explain one strength and one weakness of using an interview in your investigation,
[2+2]

One 3«@3% Ve, ok e o). Sl
Conteor. Over. Ok GUeSTND - cuas - Alked. Gng)
cve Could.  Skew- WY 0 G Sesven abb___,?\s. Neg

g

Hogoewes One  Cuadeneds  GOgud e ok e
eededh O be Loy Aeos ODOST A5 queshon
> e 0o Cuont - Tne  \mierioews. o0 &
o% dmde &S S C1LQ,5¥\UF\ Audnt Yol

é&ﬂ - :
e Basic strength and weakness but not clearly linked to the 1+1
NENSE, research.
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(b) Explain one ethical issue that you considered in your interview and explain how you
dealt with this ethical issue. [2+2)

Ohﬂl e‘ﬁm(o\.}. 1owe Prek | consdesed e
Cotmeny 0\ oiesua TR - o\ kel

ese 031 O Wled. for P\)fo‘ﬁ‘\ﬁxur_\ o
v . dhemn . T adzo Joid Thesn ‘H\e\ém
e t\b\m du cuithdmun  hueoseles  \eyh

L2l UncommEamdole | | Ethicalissue not explained or clearly linked. Way of

dealing with the issue of consent — basic explanation
S 0+2
with link to the research.

LE*]

Benchmark script 3

INVESTIGATION TWO: An interview on the use of social media

B. (a) Explainone strength and one weakness of using an Interview in your investigation.

[2+2]
One strength way that it meaont o
Stenda—dired ,f””o(.'-eol_ufﬁ c oulch _be
used, U_‘l‘f\% X Jame gto~d ew—diged,
e Eheial media Lyl lf{__ CL'J'E'.""I M*
fLLAth': Dr\gﬂ‘}ppr e ack e, o LI

the Intc——oltc— %\l‘abililrj Weh . One

weakne wWay that it May hma..‘a.mﬁumd!.._

the sixth fnfm Stuwdenis te rejpord in a
. Saying they
3.2 cr-vUL? JFJ'H%H% wend G—#“—"Wﬁﬁ Jpent
[AE¥] - W ¥ el e :
: rh? Jon ...p:..: Fhon +he vl waodd ay
7 ﬂ?iﬂ.

| gi ll ddicied to
t ciclaly  wiend t= Jeern oL
Sou medla o +he

[ AL Ve,

2+2

Appropriate strength and weakness with links to the research.
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(b} Explain one ethical issue that you considered in your interview and explain how you
dealt with this ethical issue. [2 + 2]

One Chhical [ssuwe WL Consdeed Wy enfuring
W R 9n;ned valld  c(onjeat A a vewlt,

\Jt. or < o kein t e (WEFE N - aly e~ “lre LA
f 9 J 7
bhe inkrview we agked 1) the sixth

form Jrwdent wirhed to pa-ticipate: Ak

the vtuterch was  toaducted, we debrieged

theen mbowr 4w Natwe vj,. ' P.‘, ir.pl.n..iqinj
fhat ae  were loakt‘ﬂj oA the rtlat. enrhip
L;uwm.n Jocal media Vvie ~~d ._lub:,gc-r‘l'\rﬁ-_

_ww'btmgf Mkiﬂﬂ hem to CON fFirm +|"~—oj
Jh“’k ) AL Con fend € - 0 uJe Ahei-

rtlut {J-.

0+2

Ethical issue not explained. Way of dealing with is explained and linked to the research.
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Script X

INVESTIGATION TWO: An interview on the use of social media
ST wat el

B. (a) Explain one strength and one weakness of using an interview in your investigation.
(2 +2]

0 weabness 16 therts low mlemad gwliddhy cny purbia
m oL, 2 O\lﬁj bos as ﬂw@l‘duw l-pbf:hh
kel M a phot iyht o] net neng sodad media
A Mﬁmm it s time and cogt %)1‘0&. ad e,
gueshionadnts  cun e eusily »f'\l.lul ovk ond distmlowed ho

urhdpunts wabing 1t Bve effeaie.

(b) Explain one ethical issue that you considered in your interview and explain how you
dealt with this ethical issue, [2+2]

An eMucald issue i the invethgubion &  pefthak privae
iud persdnal  quextions. alasd how peqile use Heds M,‘
ebpeduﬁlj on sotud Medip. It cun Ueate emburiussrent
o ww:nehd 5{{ ..l:)e)nﬂ ]ndrdlaﬂ 11 11443 %«m}-%ud SF&J lef3
% howss w weeh on soctod medic . To. cead with.
Yhe issue  we  engured WW@ wndl respeet of
freer Poucy net rexecting wny puhawmeﬁaz& |
wah ordes h.qm.ktﬁp_w pmJ:cuj.umé’..mch.c Honn |
(W eags.

Your mark:
Examinermark:a=2+0;b=2+1
8a — appropriate weakness linked to the research, but strength is inappropriate (questionnaires)

8b — appropriate ethical issue linked with appropriate way of dealing with the issue but not linked.
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Question 9a.

Benchmark script 1

(@) Describe what is meant by the term 'participant observation'. (2]

CPOKAPIDE AUVAROEE &L Wh WL TRGRORHR J0WH b (ArMapantg
i0 G GEUVANON oWl KL PAEREE  IROLAEHGT S STyl (KEY
'9 VUPE 0QONYIMONE FOM WL otilg SrNGpAntS

Reasonable description — does not have to be covert. 2

Benchmark script 2
(@) Describe what is meant by the term ‘participant observation'. (2]
A patcgpant  © bagfyation 13 wihere the oepadtey (ecenrchesr objuuts an

ndwidua! | indwidvold _whilit  presmezigm-  Ang pact & the LICAE:, This

Lowd. ke _erther  Covert, OF  owelt.
Reasonable description. 2
Benchmark script 3
(@) Describe what is meant by the term "participant observation’. 2]

Whe Mme  researcr2- Yakes padk and YRCOomes |
Mwwed o Wh R They Qe R Arthing {asennng .

‘ Basic description. ‘ 1
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Script X
(a) Describe what is meant by the term ‘participant observation'. [2]
{.)C( YN ARAYGRUN  peess Ju e @1'[0;;;—, 2y Lhada Mo
Chseded oF A Shwdy  tulgs oo e sorc achmie
achvities (Coodipred) es. Mo [etticiNeak. huny ansefnec) :

Your mark:

Examiner mark: 2 — Reasonable description .

Question 9b.

Benchmark script 1

(b) Describe what is meant by the term ‘event sampling’. [2]
Nasces of deeos Em\u\ NORRNRC
AX. castass. Qe_rm,d S A N

Inappropriate — confused with time sampling. 0

Benchmark script 2

(b) Describe what is meant by the term ‘event sampling’ [2]
g Event  swnglng & _a&f»lcﬁutbn‘]ﬂj smples, nd daty
olunnﬁ-tw. claevahon v ghe was skt Hae  leachey.

Does not have to link to the research — not clear enough for credit 0
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Benchmark script 3

(b) Describe what Is meant by the term 'event sampling’ [2]
Ile:-.::n:diﬁ3 ICINCRUR S o bbw;\)m&ﬁQ Aipnes.....
Mk bunowious W occuged  whidnes
£ L ccmrnmxoata oA of 0 fews. Annes s ofdlec
o have o Sxiuckdied  observadion - B swutiiucocl vega|

Reasonable description 2

Script X
(b) Describe what Is meant by the term ‘event sampling’. [2]
; Eveny Sean{linyy 8 I ki sed ke gascape M Process
h'-,* Wil helawef. G doeoed wedybire. o0 SQEUL...
BN @i oW b ponle wen Ue Wellel qets
vod sl heltaotald (2 Gvaleaedl i csQond., (b e aehY
Your mark:

Examiner mark: 2. Reasonable description.

Question 9c.

Benchmark script 1

(c) Identify the level of measurement of the data collected by the researcher in this
research. (1]

.

0
Benchmark script 2
(c) Identify the level of measurement of the data collected by the researcher in this
research. (1]
NoMiNAL - ASLO 0
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Benchmark script 3
(c) Identify the level of measurement of the data collected by the researcher in this
research.
Ordural
Script X
(c) Identify the level of measurement of the data collected by the researcher in this
research.
WO 48
Your mark:

Examiner mark: 0

Standardisation Answer Booklet — Summer 2022

(1]

(1]

Question 9d (i).

Benchmark script 1

(i) Showing your workings, calculale the percentage for the number of times negative

attention was received by a male pupil

& 4 RAX AN T o S
(= - S
Lo
S ~ > ) N
A = PR
g B SES - e

(2]

Ignoring the calculation of the times positive attention was received by the males as this was
given in the table and may have simply been a way of cross checking the calculation.
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Benchmark script 2
()  Showing your workings, calculate the percentage for the number of times negative
attention was recelved by a male pupil,

[2]

Cless. Nawel of shadants = b |2 4 \Lx 4

- Yo
‘Z__x‘\(}o =49 e
=0

— >

Benchmark script 3

(I) Showing your workings, calculate the percenlage for the number of times negative
attention was received by a male pupil. [2]

=3 Yo rL=\G6—

b i
Y

=S\
A& YR LA iy S WD
¢ L T M s PR
S0 I T, R I

[N = AT =0 pp

59





Eduqgas A level Psychology Component 2 Standardisation Answer Booklet — Summer 2022

Script X

(iy Showing your workings, calculate the percentage for the number of tmes negative
attention was received by a male pupil. (2]

6 13 4+ 124H4= Y40 )
M MAOObYs OF HE0AS  PRAGHML QRAWUN
WG rhagd B4 AL RS WA g
| T AOQ - %01
T PUCUOAOR, 60C R CUREAT T6 winds (QQUENG adibiin was
rQcvad by O maly pugo. w3071,

Your mark:
Examiner mark: 2. Accurate calculation and workings are shown.
Question 9 d (ii)

Benchmark script 1

(i) Showing your workings, calculale the percentage for the number of times positive

attention was received by a female pupil, 2]
\ o= LSS
|
ue N AN
T ) 5
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Benchmark script 2
Showing your workings, calculate the percentage for the number of times positive
[£]

{n
attention was received by a female pupil

X4z 4y = UD

&g, \8 < WO~ 0. UG

O, UGS YOO — U\ BY 2
Benchmark script 3

Showing your workings, calculate the percentage for the number of times positive
altenlion was received by a female pupil, [2]

A7,

(ii)

Script X
(i) Showing your workings, calculate the percentage for the number of times positive
attention was received by a female pupil. [2]
1% = 0.4S
4o
O.Usx oo = HS -
Your mark:

Examiner mark: 2
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Question 10a (i) and (ii).

Benchmark script 1

(@ (i) Identify the graphical representation used by the psychologist in Fig.3. (1]

Liae c_\‘c:n&?‘h

(i) Explaln why the graphical representation used by the psychalogist In Fig.3 is
appropriate in this research, [2)

N Lna C:&:Q.Q\\ oo emms. oue Rl
Mee O MW\M\%QQQ
wmw\:}ﬁ%\‘& 1 1.5

Appropriate identification = 1

Appropriate explanation with clear links to the research = 2

Benchmark script 2

(@) (i) Identify the graphical representation used by the psychologist in Fig.3. (1]

| Inee W

(i)  Explain why the graphical representation used by the psychologist in Fig.3 is
appropriate in this research. [2]

It allons o to see #ao conbruows Cchunge ead.
Mpude o) e vosulies wad  wwure He twp
lahnBes  aquing wdh Bther v heso anmy
¥ Sqnifiunt Oy,

Appropriate identification = 1

1+1

Appropriate explanation without clear links to the research = 2 (ignore inaccurate comment about correlation)
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Benchmark script 3

(@) (i) Identify the graphical representation used by the psychologist in Fig.3. [1]

ﬂ,\ ) LS (4,3 [u--e,- \_F V‘Eﬂ-r\x B B

(i) Explain why the graphical representalion used by the psychologist in Fig.3 is
appropriate in this research. (2]
Bacres o T livg  gre@  Con Lo
L) .C[‘i"* Lo envithor—C-2_ v ;_,_:ﬁm,h, ay “.,J-

Wl O L= Prinvegph I L_h_ n-x‘_ o) iy E,c." ey

OV [\ l"' e 1+0
Appropriate identification =1
Inappropriate explanation =0
Script X
(a) (i) Identify the graphical representation used by the psychologist in Fig.3. 1]
5 ..[ LOE, @J.J.’.TG?L.ph
(i)  Explain why the graphical representation used by the psychologist in Fig.3 is
appropriate in this research. (2]
[F vies e Lime ko demonstrate +he
rda b onsh) P between  Hlme (w_{ac.Lz.'. e 4he
X axiy) A megn e ory ) Cote. (y -
A AEJ) W e clear 4 € aly e P'E'Clu_ ~e od
Your mark:

Examiner mark: 1 + 0. The explanation is inappropriate.
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Question 10a (iii)

Benchmark script 1

(i)  What conclusion can be drawn from the information in Fig.37 [2]
OB Whe s \wsasaha ogld
Nea . Yaos Se oxk @@= o Tee
SoaReeaa Yesk Lo ':Lq\ﬂ:\&{‘:sd\%\g{\ "

waisease oker ol u~ee\

0
This is an inferential conclusion so therefore it cannot be drawn from the information in Fig. 3
Benchmark script 2
fiiiy What conclusion can be drawn from the Information in Fig.37? 2]

Thert 16 Mq‘kﬁ%uate in Men ubilija af when
Mﬁs’ih'j Ma,ppTM IS F Blow I&qu
wa“hmmmu&moﬂ | modte  eeuda wewe wothont
W opp _ Lo

The use of the words ‘memory ability’ rather than ‘scores’ makes this an inferential conclusion
so therefore it cannot be drawn from the information in Fig. 3

Benchmark script 3

(i)  What conclusion can be drawn from the Information in Fig.37 [2]
6:"""E"’“JI"" [, asho vZed N ] h e

a highe~ mean Jcore (3> than
Gveovp. 2, who did not ure the apr % (1),
l'jj Ao Lol p. fi2e @ A pEriment.

2

A conclusion that can be drawn from Fig. 3 with clear links to the research.
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Script X
(i)  What conclusion can be drawn from the information in Fig.3?
Owe  Lon fd WO oy Ee e @ Cowleh O Yoo~
h D LS :‘}'\p‘t TL';' ‘u‘-—Ltﬂ".—-*“ "'"1,\_ :.\.r:-ﬂ G
Li— P YD ot -ty Grechielly ot
e
Your mark:

Examiner mark: 0. This is an inferential conclusion.

Question 10b.

Benchmark script 1

(b)  Fully explain how the psychologist could have applied the matched pairs experimental
design in this research. [3]

T oo oSugeal\oqnl cossleeg Corasad)
O RO SXNLN Qm Waase,  LaRn
el sen @l Sosea Age |, e TS and
L o e adin Qnono Q‘Lx'b_c:g

da oo osnd Niex CKLS: e ks

Reasonable — 10 people are matched, characteristics of matching, both pairs do the test. Clearly
linked to the research.

3
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Benchmark script 2

(b) Fully explain how the psycholaglst could have spplied the malched pairs experimental
design in this research,

g
Makdned puirs . design means te

et madoned . eadh, P“-rf"nmp.m.& hﬂﬂ%i‘hqpp #\S}%QM
oRwp Who. waks e stume. ginder, age and datha
Scemunn Wit of oty - 1Q \evel. —Tiis mubes tte resul

oye peludle as flaey comoved. ) OIS, W»@Eﬁﬁ

Basic — matched with a control group, characteristics of matching. Clearly linked to the research 2

Benchmark script 3

(b} Fully explain how the psychologist could have applied the matched pairs experimental
design in this research. [3]

By madching  PAhGRaNt's Yoged WPon Mewr nhal
\@ and Mmemory EDQELL:TB e o Nn@e  O~Gractenyin
are nlt Qavicipant variohes thal  Gald ?.;t”tn'ﬁnlly tick

AN Exhranesud K 0BuS 1 Zhkechirg Nl crkcome ok e
ﬁtﬂuj

2
Basic (just) — matched on characteristics. Clearly linked to the research.
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Script X

(b) Fully explain how the psychologist could have applied the matched pairs experimental
design in this research. 3]

f].’\tlj Mmooy hoave matched Croy.p one
e d GO o fuw o o~ +hejr- ’Q [ewvel o
enjure regults were bajed en the Uje o
fle xpp Andt not  intellectual al || ey,

-ﬂﬁb'-j ']"fﬁ mayy have  enjure & &—Q‘—?ﬂ— <

: W e :
20 pavry hok the SJare « AJ eacheother
Jo Ef%ﬂcﬂ Of age ON MeMory Aldnl effect el

Your mark:

Examiner mark: 3. Reasonable and clearly linked.
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Questions 10c.

Benchmark script 1

In the final week the psychologist compared the memory scores of the 20 pairs; In 18 of
the pairs the participants had different memaory scores. The psychaologist used a Wilcoxon
malched pairs signed ranks test.

(c) Apart from using a matched pairs experimental design, explain two reasons why a |
Wilcoxon matched pairs signed ranks test is appropriate to analyse the data in this
research. [2+2]

(L ace—De - e  alre o Sp
7 ehote b Olodone s (> ot A=t
| e~ CAean relsdro—vys o O
For v e~ ¢ Ty eoadd e
' P wWe_ CoA S o o~ Ne |y ervcafl
Ne ou

f}-‘\" "j i~ (leo~r

oL P Y | Ve
M s weaddt Lo Loe

32 - Az

02 L vt W
C"\-u-.-"t\. S;

EN AR VSO

T Y Yoo -

. +
Not appropriate 0+0

Benchmark script 2

(c) Apart from using a matched pairs experimental desian, explain two reasons why a

Wilcoxon matched pairs signed ranks test is appropriate to analyse the datain this
research.

[2 + 2]

Wiltovon  wiadihved puirs s s, lest, allows, s te

el dfjrences Lye,huc.m e yariaes. P TS allog

us to see It i “"’“H cﬂ%tﬁ and e impuck o) Ko
e ot egondunt vanule - e use oﬁ e wpp. o
pueticipunds by

Appropriate reason (difference) but not clearly linked — there is a mention of the research but not

within the explanation that this test is a test for difference. We would need to see the two conditions
for a clear link.

1+0
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Benchmark script 3

(c) Apart from using a malched pairs expenmental design, explain two reasons why a
Wilcoxon matched palirs signed ranks lest is appropriate to analyse the data in this
research. [2+ 2]

.ﬂ“x{\j s f-ﬂ( At ot ﬂw— el <t
.F(‘ﬂﬂ'u-kc::c‘\ from. . the Man JCorcs 0N
the memory tes +  were o4 least ordinal.

'ﬂdf., ﬂﬁFCF;meﬂ+ iﬁv’qt"ﬂjafﬁ"\ the Oj"'{-:/tr.‘er‘qn-:.,
‘ -

betwetn wdror  thet—hraom—troo—mrg— two
A p? 9(‘@4&(' MEMETY - as A regult of +he
AN hraocs e app.do ifie A teut oL

CJH\I:.F.- FHLreni<, Reasonable and clearly linked to the research 2+2

Script X

In the final week the psychologist compared the memory scores of the 20 pairs; in 18 of
the pairs lhe participants had different memory scores. The psychologist used a Wilcoxon
matched pairs signed ranks lesl,

{c) Apart from using a matched pairs experimental design, explain two reasons why a

Wilcoxon matched pairs signed ranks test is appropriate to analyse the data in this
research. 2+ 2]

W s ‘3‘\\&5\.\:}‘\“5 e ANReente MRlMuce~ e hooa,
N eRIRY.

The doden S 24 et erdirdl @nd ol Coxan
LBes  ordanod. dakey-

Your mark:

Examiner mark = 1 + 1. Basic and not clearly linked.
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Question 10d.

Benchmark script 1

(d) The psychologist used a directional hypothesis and found that the observed (calculated)
value was 53.

(i) Using the critical values table, identify which critical value is appropriate in this

research.
S OS
" 0.01 0.05 ]
18 27 40
19 32 46
20 37 52
21 42 58
22 48 65

()  Explain why the psychologist should accept or reject the null hypothesis in this
research.

e Oicceh o5 Qs less deas, ©8F)| 5,9

Benchmark script 2
(i) Using the critical values table, identify which critical value is appropriate in this
research. 1
eds 52
n 0.01 0.05
18 27 40
19 32 46
20 37 52
21 42 58
22 48 65

() Explain why the psychologist should accept or reject the null hypothesis in this
research.

The paychoiggt  should @emit  reect  his . Aull hypethasis

brcauwse there 13 (leady a pasfue correlation. betucen. the app
0+0

and  memsps W
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Benchmark script 3

{d) The psychologist used a directional hypothesis and found that the observed (calculated)
value was 53,

(i) Using the critical valuss table, identify which critical value is appropriate in this
research, 1

)

(il Explain why the psychalogist should accept or reject the null hypothesis in this
research, a CC(’F’JF 2]

ﬂ”\ty.. Thould ¥ejeetr +he nuld .l’\_.j..(:o{fhm o
be ¢ aisie Yhe o brerwed v ol e (5.3)....(,5
greater than the critical V@AM&m(ﬁi),

when 1§ moust be lower 0 ~jes thenwdl 0+1
Y P o+hesis.

Although the figures are incorrect, which means the link is not there, the justification is
accurate, so mark given for basic answer not clearly linked.

Script X
(d) The psychologist used a directional hypothesis and found that the observed (calculated) |
value was 53.
(i) Using the critical values table, identify which critical value is appropriate In this
research. [1]
S o

n 0.01 0.05

18 27 40

19 32 46

20 37 52

21 42 58

22 48 65

(i) Explain why the psychologist should accept or reject the null hypothesis in this
research. (2]

[NEE Cq_x,..b‘:.{.l acie .L(Dq n e d ( LLA';J:.- J?LJ_‘:J
0o O o ol ey e infereadic] Lot = wuwe
lap'ﬂ L *‘U g“? < Ry = !\ Cl"::@-yae,;.{ UO\,L«_& W‘j

Q¥ equ_te-
ez h:.\,h fle Crfr gl Usdea

Your mark:

Examiner mark: 0 + 0
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Question 10e.
Benchmark script 1

(e} Using your knowledge of psychology, briefly discuss why conducting research ina
labaratory may be better than canducting research anline. 4]

P osote e oo m:h_x__.x.».;‘i“::“:h 15, Smo'te

PV WS W WL & e e e — —
e == sk
Cemmesdn U o ladommbea salesa
TOCAA o Scofeer  Weove  essmashel condangk-
el ocdna os oo axe alle b cosde=\

Y. can 22 ookl 2t warohles suda as
Coraent  ‘ouk colne UL ek core &
o8 Mawre ose Yo Raisd - pashy corsend
oude, o wedenies cnd Q\mﬁmmirﬂ
wlﬁs.\‘ﬂs ednidn poades el walec

.@camqﬂmkm_ﬁ: MWR:MQ

SPOOR  AeROES Qt:ﬁ:ﬁ;& COa, m\\ﬁb& |
“C})&_‘;ﬁ oo osmesred, oo Qen

t:_'?.u—\}-ﬁs c_-s_'\% oo dese o Kas ‘3-113,'\'\:‘-1:1
(PP T U UL T S W - P | PN Q:q_m.m‘“ k-#
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& eomaglatela \uscad ofC mcs%«.-r .

i Prak. o= e '&;u&ﬂt‘.‘f&u&kﬂ e
‘cx._i P Q\:\‘-S.s.ﬂ:ﬁ!n.\.d o Sochsioas
Vaonse ‘o= Shooe - Bhsan % TEFOR \t\ﬁw\(ﬁ e
w2 - wosnkade, o< el - ‘ﬁ\_i x‘\;:;zse.hﬁ,m‘\.bm

e encast ok Mok WMo gedhsgenk

Reasonable discussion with clear links to Psychology.

Benchmark script 2
(e) Using your knowledge of psychalogy, briefly discuss why conducting research in a
labnratary may be better than conducling research online, [4]
r.x't— Mt Ll
Y lonductivy  redameti a8 labowfoy o
ol e bedier— Mo onlire U Mot (e vaatuld
L‘“‘.—’ o O i eds l"“ﬁ-”‘:..a | s devigt V'o?.{t A {l-*'l'\
G )

Canld  Contrd MO emerisntl Sh,d-ul
Up i -l‘:(‘_; :}g} o or Vesendeey - lev.hﬂu-
Ll

wA [~y
lebo -e:«f-a.-... eaporirent > bodta M
fnlie  extperiesd B Pt [ocesoe toe ol

Lae s . L - { -
Cid ..o he Vori o A0S P g Ov ‘F:t ‘-'-xv-u-’-' cla csf
b"e,’\,k-"l: h—'g’lp W - h(_ ‘ Vv C'\.--c.’ DU‘

Lt

1
Although the candidate has suggested two ways, there is repetition, so credit given for one
point = basic discussion with clear links to psychology.
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Benchmark script 3

(e) Using your knowledge of psychology, briefly discuss why conducting research in a
laboratory may be better than conducling research online, 4]

C_C.Kﬂwc.?ims CesasanN ...“Ra e \a}www S
e, Cexmsorurs o) Coorsoy - Over oYy \'V\{JP NS

G ioe.. ey Need -Z_Ut‘ ah(’. (esemschn
G\ g:ijg\(:r?i) (Do An é\'\ﬂ.ﬂr\

CDQ)ALE{-v,nL:B (eseron . Ooliae POy De \ox
Neme .Qurﬁc:ummu) s S basd. o0 SOMeohn

oxen  CeSastn. S . I Loouddant e

Ghoe S0 SUQ r«-a}m Cenasc) wed)

%\f\\ﬁl Shey nea&- — P

Basic discussion with links to psychology.
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Script X
o |
(e) Using your knowledge of psychology, briefly discuss why conducting research in a |
laboratory may be better than conducting research online. [4]

0 ﬂt‘u\?__ s A vevy hasd 4o _dels L :
the _metﬂ'.cifﬂmu M it Can b G{r,;’g_i‘ cul b |
to get accefy 0r Comiyact them o2 o < it
.t’lv_ag o Com I(Jiﬁ-x_at—.—fiﬂ 4”’\1; YeLarch hC\J fﬂ?.!i’.fﬂ. |
Compltht’d, whecey in & laborareny Fhisis. .

Not on 180ue 20 oy ygow G th_r; crxﬂg F
ACCeY pnd Communi Cete Wit perticipants, [N
A \lab, i+ l¢ eajier 0  COnduck (fwhnw:)

expriments ol the cenditions can.be
Centrolled Eﬂdé_\j o b Fhis 3y ~skthe
Case bnlineg, whee condibens Cannoy
by  .conmeled. i'h.u-w Pron—
rrtv"“""*‘**"f":l the bl g o =

: , uim
Jeitnt fic  erperiments emd limiting tha it
Me Hh o Al %ﬁ-ﬂ‘ ey e ereh _’FQCI"“"‘L“.':‘-‘.J.:.

Your mark:

Examiner mark: 3. Reasonable discussion with clear links to psychology.
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3.

Describe the following ways of assessing validity in psychological research:

(@)

concurrent validity [2]

Exemplar answers:

Validating a measurement by comparing it with an established
measurement that has known validity. If similar results occur on both tests,
then this new test is valid. If not, then the new test would have to be
redesigned and tested. (2 marks)

Comparing the results of a test to the results of an existing test which is
valid (1 mark)

e Any other appropriate content

Marks AO1
2 e Reasonable description.
1 e Basic description.

e Inappropriate answer given.

e No response attempted.











Describe the following ways of assessing validity in psychological research:

lidity.
(a) concurrent validity. e [2]
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Sticky Note

This received 1 mark – there is accurate description of the comparison but the similarity between the method and procedure is inaccurate, so this is a basic response. 
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(€)

© WJEC CBAC Ltd.

Identify the experimental design and explain why it was appropriate in your
experiment. [1+3]

Credit could be given for:

Identification of experimental design

Independent groups.
Repeated measures / repeated groups (not relevant for gender).
Matched pairs.

Any other appropriate content.

Marks AO2

1 e Accurate identification.

e Inappropriate answer given.

0 e No response attempted.

Exemplar answers:

| chose an independent groups design as my independent variable was
gender and | wanted to test the difference between the two groups of
boys and girls. It would be impossible to use a repeated measures
design as a boy could not then repeat the study as a girl in my
experiment. [3 marks]

| chose a matched pairs design as | wanted to test the difference
between two groups of boys and girls, but | wanted to control for as
many extraneous variables as | could. [2 marks]

| chose an independent groups design as | had two groups — one group
of boys and one group of girls and | couldn’t use repeated measures.
[1 mark]

Any other appropriate content

Marks AO2
3 e Thorough appropriate explanation of the choice of
experimental design clearly linked to the research.
e Basic appropriate explanation of the choice of experimental
design clearly linked to the research.
2 OR
e Thorough appropriate explanation of the choice of
experimental design not clearly linked to the research.
e Superficial appropriate explanation of the choice of
experimental design clearly linked to the research.
1 OR
e Basic appropriate explanation of the choice of experimental
design not clearly linked to the research.
0 e Inappropriate answer given.
¢ No response attempted.
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(c) Identify the experimental design and explain why it was appropriate in your experiment.
[1+3]



































(d) Identify and fully justify the choice of inferential statistical test that you used to
analyse the data in your experiment. [4]

There will potentially be differences that reflect the research choices made
by each candidate; credit the inferential statistical test choice if it is
potentially an appropriate way of analysing the data collected in their
experiment on helping behaviour.

Exemplar answers:

¢ | used a Mann Whitney test to analyse my data as | was testing for a
difference between two independent groups (participants were either
male or female) and the level of measurement was interval (number of
times they helped). [4 marks]

e Any other appropriate content.

N.B. Candidates who report selecting a Spearman’s Rho or any other
inferential test that would not be used for an experiment, cannot receive
credit.

Marks AO2

e Inferential statistical test identified.

All of the following conditions included in the justification:
4 e Test of difference noted and linked to research.

¢ Level of measurement noted and linked to research.

e Independent or related data noted and linked to research.

e Inferential statistical test identified.

Two of the following conditions included in the justification:
3 e Test of difference noted and linked to research.

e Level of measurement noted and linked to research.

e Independent or related data noted and linked to research.

e Inferential statistical test identified.

One of the following conditions included in the justification:
2 e Test of difference noted and linked to research.

¢ Level of measurement noted and linked to research.

e Independent or related data noted and linked to research.

¢ Inferential statistical test identified.
¢ No justification of the inferential statistical test chosen.

! OR
e Incorrect justification of the inferential statistical test chosen.
0 e Inappropriate answer given.

e No response attempted.

© WJEC CBAC Ltd. 16
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Examiner
|
(d) Identify and fully justify the choice of inferential statistical test that you used to analyse o

the data in your experiment. [4]



































(e)

© WJEC CBAC Ltd.

Explain two improvements you could make to your experiment.

[4]

Exemplar answers:

Reliability issues could be improved with techniques such as
standardisation, operationalising and carrying out a repeat of the
experiment at a later date. [2 marks]

Validity issues could be improved by increasing control/conducting

research in the laboratory not the field; increasing the realism of the task;

using a more representative sample. [2 marks]

e Any other appropriate content.

Marks AO2
4 ¢ Reasonable explanation of two improvements clearly linked
to this investigation.
3 e Basic explanation of two improvements linked to this
investigation.
e Superficial explanation of two improvements linked to this
investigation.
2 OR
e Reasonable explanation of one improvement clearly linked to
this investigation.
e Two improvements are identified but not explained or linked.
1 OR
e Basic explanation of one improvement linked to this
investigation
e Inappropriate answer given.
0
e No response attempted.
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(e) Explain two improvements you could make to your experiment. 4]

10
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(@) Describe what is meant by the term 'participant observation'. (2]
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Section C

9. A primary school headteacher received complaints from a few parents that a teacher
was discriminating against the boys in her class. The parents complained the teacher
was giving the boys more negative attention and less positive attention than the girls.
The headteacher asked an educational psychologist to carry out a participant
observation. Using event sampling, she recorded how many times the teacher paid
attention to the pupils in the class, noting the gender of the pupil and whether the
attention was negative or positive. The educational psychologist’s findings are shown

in the table below:

Fig.1. A table to show the number and gender of the pupils receiving positive
attention and negative attention.

Male pupil Female pupil
Number of pupils who received
" ) 6 18
positive attention
Number of pupils who received
. . 12 4
negative attention
@) Describe what is meant by the term ‘participant observation’. [2]

Exemplar answers:

A research method where the researcher takes on the role of a participant
whilst observing other participants’ behaviour around them (2 marks)

Where the researcher is part of the event being studied (1 mark)

Any other appropriate content.

Marks

AO1

2

Reasonable description.

1

Basic description.

0

Inappropriate answer given.
No response attempted.

© WJEC CBAC Ltd.
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(@) Describe what is meant by the term 'participant observation'. (2]
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Sticky Note

2 Marks
Reasonable description – does not have to be covert. 
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(@) Describe what is meant by the term ‘participant observation’. [2]
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Sticky Note

2 Marks
Reasonable description
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Sticky Note

1 Mark
Basic description
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12

Examiner

|
SECTION C - Application of research methods to a novel scenario o

Answer all questions.

A primary school headteacher received complaints from a few parents that a teacher was
discriminating against the boys in her class. The parents complained the teacher was giving
the boys more negative attention and less positive attention than the girls. The headteacher
asked an educational psychologist to carry out a participant observation. Using event
sampling, she recorded how many times the teacher paid attention to the pupils in the
class, noting the gender of the pupil and whether the attention was negative or positive. The
educational psychologist’s findings are shown in the table below:

Fig.1 — A table to show the number and gender of the pupils receiving positive attention and
negative attention.

Male pupil Female pupil
Number of times pupils 6 18
receive positive attention
Number of times pupils
. . . 12 4
receive negative attention

(@) Describe what is meant by the term ‘participant observation’. [2]











(b) Describe what is meant by the term ‘event sampling’. [2]
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(b) Describe what is meant by the term ‘event sampling'. [2]
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(b) Describe what Is meant by the term ‘event sampling”. [2]
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(b)

Describe what is meant by the term ‘event sampling’.

(2]

Exemplar answers:

Event sampling is a method of recording behaviour in an observation. The
researcher records how many times a particular event occurs. [2 marks]

Event sampling is when the researcher counts how many times something
happens [1 mark]

Any other appropriate content.

Marks AO1
2 Reasonable description.
1 Basic description.
0 Inappropriate answer given.

No response attempted.











(b) Describe what is meant by the term ‘event sampling’. 2]
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Sticky Note

0 Marks
Inappropriate - confused with time sampling
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(b) Describe what is meant by the term ‘event sampling'. [2]
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(b) Describe what Is meant by the term ‘event sampling”. [2]
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2 Marks
Reasonable description
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(b) Describe what is meant by the term ‘event sampling’. [2]











(c) Identify the level of measurement of the data collected by the researcher in this
research, (1]

-
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(c) Identify the level of measurement of the data collected by the researcher in this
research. [1]
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(c) Identify the level of measurement of the data collected by the researcher in this
research, 1]
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(@)

Section A

Explain what is meant by ‘primary sources’ in psychology. [2]

Exemplar answers:

Information sources/data that is directly collected by the researcher first-
hand e.g. they collect data through a questionnaire, experiment, interviews
etc. for their research (2 marks)

Data that is collected by the researcher (1 mark)

Any other appropriate content.

Marks AO1
2 Reasonable explanation.
1 Partial explanation.
0 Inappropriate answer given.

No response attempted.
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Sticky Note

This received 1 mark - a partial response ‘hand-picked by the researcher themselves’ but does not 
explain how, e.g. through their own research or an example of a method. 
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Sticky Note

This response achieved 2 marks as a reasonable explanation. It is not essential to have examples of types of primary methods to achieve the full marks for this question. There is enough here to show that the candidate understands that the researcher gains the data from their own research, without stating what that research method is. 
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Sticky Note

 No credit for this response = 0 marks. 
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(b) 0] Identify and explain one extraneous variable you considered in your
experiment. [1+2]

Credit could be given for:

Marks AO2

1 Identification of a plausible extraneous variable

Exemplar answers:

One extraneous variable was time of day [1] because if the student
was in a hurry to get to class, they may have been more worried
about getting into trouble than stopping to help; this affects the
validity of the findings. [2]

One extraneous variable was whether the student knew the
confederate lying on the floor [1] as they might be more likely to
help someone that they liked rather than someone they didn'’t like,
affecting the validity/reliability of the study. [2]

One extraneous variable was the presence of a teacher [1] as the
student may have though the teacher was going to help and they
did not need to. [1]

One extraneous variable was the furniture in the common room [1]
as they might not have seen the person on the floor. [1]

e Any other appropriate content

Marks AO2

> e Appropriate explanation of an extraneous variable
with links to this research.

1 e Basic explanation of an extraneous variable linked to
this research.

e Inappropriate answer given.
No response attempted.
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(b) (i) Identify and explain one extraneous variable you considered in your experiment.

[1+2]


































(i) Explain how you dealt with the extraneous variable identified in (b) (i)

(2]

Credit could be given for:

e Standardised procedures.
¢ Collecting data at the same time of day.
e Using a matched pairs design.

e Any other appropriate content.

Exemplar answers:

We controlled the extraneous variable by conducting the experiment
in the common room at the same time of day so that the students
were all on break or lunch and were not at risk of missing lessons.

[2 marks]

We kept the common room the same for all participants so that they
could all see the person needing help. [2 marks]

We asked the teachers not to come into the common room. [1 mark]

Marks AO2

e Appropriate explanation of how the extraneous

2 variable was controlled with links to this research.

e Basic explanation of how the extraneous variable was
controlled with links to this research.

e Inappropriate answer given.
No response attempted.

© WJEC CBAC Ltd. 14


































(i) Explain how you dealt with the extraneous variable identified in (b)(i). [2]
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